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https://t.me/padasalaichannel
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https://t.me/joinchat/NIfCqVWwo5iL-21gpzrXLw

e 12th Standard - Group
https://t.me/Padasalai 12th
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https://t.me/Padasalai 10th

e 9th Standard - Group
https://t.me/Padasalai 9th
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https://t.me/Padasalai 6to8

e 1stto 5th Standard - Group
https://t.me/Padasalai 1to5

e TET -Group
https://t.me/Padasalai TET

e PGTRB - Group
https://t.me/Padasalai PGTRB

e TNPSC - Group
https://t.me/Padasalai TNPSC
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[6. (glés(ﬂasrrmmﬁlmsi)j

Hemerelled GQamerer Geuemrig wwieme
p&Camemrailiie (LpmHemm,emLs s
(i) sin®0 + cos’0 =1
(iii) 1 + cot®@ = cosec’d
uuiim& 6.1
1. Beiraumd WPHEmTmensemer HlemLiésaL.
(i) coto + tanb = sec 6 cosecoH
DT
LHS = cot6 + tan6
cos6 . sind
sin® cos6
_ cos0 +sinb
" sinbcos
1 1

"~ cos® sin®
= secOcosecH
= RHS
(i) tan®e + tan’0 = sec’d - sec’d
DT
LHS =tan‘ + tan’
= tan’0 (tan’0 1)
=tan’0 . sec’d
= (sec’0 - 1) sec?®
= sec’d - sec’d
= RHS

2. Betreu(mLd (PHGEMTHmLGSmaT [HlemL8 &0 L.

1 - tan’0
cot’d - 1
Sirey: LHS = 1 - tan®0
cot?0 - 1
sin®0
" cos®0
cos’0
sin’0
cos’0 - sin’0
cos’0
" cos®0 - sin’0
sin’0
= cos’0 sin®0 - 1
sin’0 . cos’
cos’0 sin’0
= tan’0
= RHS

= tan’0

(ii) 1 + tan®0 = sec®®

i) 2089 =secH -tan6
1+ sin6
. _ cosb
gie|: LHS = T+ sine
coso 1-sind

1 +sin6 X 1-sin®
cosb (1-sinb)
1 -sin%0
cos0 (1-sinb)
cos’0s
1 i sind

cos® coso

secH - tano
RHS

3. Wetreu(mLd (WPHOMTHEmLSmaT [HlermLi8 8 0L

(i), /1 + sin®
m = secH + tano

ey :
(i) LHS \/m
“V1-sino
\/1 + sind 1+ sin®
1-sin6 X 1+ sin®

A /1 + sinf?
1 - sin6?
’1 + sind’
~ NV cos®
1+ sin0®
= cosH
1 N sin®
cos® coso

=secOH +tano
= RHS

i) ,1+sm6 /1—sm9
1 - sin® 1 + sin® = 2sech
1+sinf [1-sin6
+
\/1- sinO V 1-sin®
1+sin0 /1—sin9

1 -sin0® N 1-sin®
1+ sin® + 1-sin0

o \1 - sin’0
2 2

“\cos®™®  cosh

= 2secb =RHS
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4. Netreu(md PHOMTHemsamear HlemLUls e,
(i) sec®® =tan’d + 3 tan’0 sec’® + 1
gitey :
LHS =sec’
(sec’0)’
= (tan®0 + 1)’
= tan®0+ 3tan‘0+ 3tan’0+1
= tan®@ + 3tan’0 (tan’0+1) + 1
= tan’@ + 3tan’0 sec’0+1
= RHS
(ii) (sin® + sechH)* + (cosh + cosech)’
=1 + (sech + cosech)’
(sinb+sech)’ + (cosh + cosech)?
sin’0 + sec’0 + 2sin0 secH +cas’d +
cosecbH+2cosbcosecH

sin’0+cos’0+sec’0+cosec’d
sin0® cas0
2 |——+ —
cos6 sind

1+ sec’9+cosec’0 + 2[

LHS

sin’0 +cos’0
cos0sind
1+sec’d + cosec’® + 2secb cosechH

1 + (secH + cosech)’

= RHS
5. Wereupd WPH DT HevL&mear FlemLN8 s a0,
(i) sec'd(1-sin‘@) - 2tan®d =1

Sy :
LHS =sec’d(1-sin9) - stan®6
= sec’d - sec’d sin“d - 2tan’0
.4
= sec’o - s ? - 2tan’
cos’0
= sec’0 - tan'0 - 2tan’0
= (sec’0)’ - (tan’0)® - 2tan’d
= (sec’@ + tan®0)
= (sec’® - tan®0) - 2tan’0
= sec’0 + tan’0 - 2tan’0
= [sec’d - tan®® = 1]
= sec’®-tan’® =1 = RHS
(ii) cotb-cos®  cosecO - 1
cotd +cosd  coseco + 1
ey :
LHS  cotO - cosO
" cotO + coso
cosé - cos0
_ sin®
CC?SG + cos6
sin®

]

1
coso Sino -1]

1
cos0 [S|_n9+ 1]

cosecH - 1
~ cosecH + 1
= RHS

6. WetTeu(mLd (PHEMT(HmL&mST HlermL8 saL.
(i) sinA- sinB cosA-cos B
cosA+cosB  sinA +sinB

ey :
LHS sin A-sin B cos A-cos B
cosA+cosB sinA+sinB
(sin A-sin B) (sin A+ Sin B)
(cos A + cos B)
(cos A-cos B) (cos A+ cos B)
(sin A + sin B)

(sin’A -sin® B) . (cos®A - cos’B)
~ (cosA+ CosB) (sinA +sinB)
1 -1
= (cos A+ cos B) (sin A+ sin B)

=0 a®+ b’ = (a+b) (a*-ab+b?)
= RHS |[a’-b =(a-b) (a’ + ab + b?)

sin® A - cos®A

(ii) sin® A+ cos’A 4
sin A -cos A

sin A+ cos A =R

Sirey :
LHS sin*A+cos’A  sinA-cos’A
=sinA+cosA ' sinA-cosA
(sin A + cos A) (sin®A - sin A cosA+ cos’A)
= (sin A+ cos A)
(sin A - cos A) (sin’A + sin A cosA + cos®A)
= (sin A - cos A)
=1-sinAcosA+1+sinAcosA
=2 = RHS
7. (i) sin6 + cos ® =+/3 erafléd tan 6 + cosd =1
eTeiTUem S HlemLi& & aLb.
giray : Y
LHS = (sin6+cosb) =\/3_
(sin © + cos ) = (\/3)2
sin®0 + cos®0 + 2sind cos6 = 3
1+2sin6 cos6=3 =2sinb6cos 0 =2
sin 6 cos 6 =1
1
sin 6 cos 6
sin’0 + cos’0 _
= 7 sin0 coso
sin’o cos’®
SinB cos 0 © sind cosd
o% tan6 + cot6 = 1
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(i)\/3 sinB-cos B =0 s,
3tan6 -tan®0

6TeurS Hlmies.
1 - 3tan®0

tan30 =

ey :
LHS =\/§ sind - cos6 =0
=43 sinbd = cosO

sin6 _ 1
= cos® /3
1
tano \/,5
= & 0=230°
LHS =tan36 =tan3 (30)°
= tan90’
= 00
RHS 3tane - tan’0
- 1-3tan’0
_ 3tan 30° - tan’30°
- 1-3tan’30°

() ()

(%)

=00
LHS =RHS

8. (i) cos a cosa

cosp = ™M m@@mm= n eteor& Gl&meor(h)

(m? + n®) cos’p = n® erstTuEnG HlerLN&s0b.

Sy :
LHS = (m®+ n®) cos’B
= cos’a +cos’a cos’p
cos’p  sin’p
, cos’acos’p
= cosa+ T gin7g
cos’a_(1-sin’)
sin’p
cos’a  cos’a sin’p

= cos’a +

= cos’o + sinp =~ sin’p
= cos’a + C(’.Sz“ - cos’a
sin“p
cos’a ,
=SB =N = RHS

Sriey :
X = cotb + tan6
cos 0 sin®

+
sin © cos6
cos’0 + sin’0

sinb cosH

1

“sin0cos 0

1 sin®0
sin’0 cos’®  cos’@

1
cos’d

1
[ cos’0 ]
1
cos’f

w|n

(Xy)

y = sec 6 -cosf

= 1 - cos 0

cos6

1 - cos’d
cos 0
sin’0
= Coso
) _ 1 sin®0
Xy = — . -
sinfcoso cos0

sin®0
~ cos’e

L (mme)%
(xy ) - cos’0

sin’0
~ cos’

1 sin’0

& (XPy) - (xy?) =
(y)- by cos’®  cos’0

1 - sin®0
cos’0

cos’0

" cos’0

= 1 eterr [HlemUlSsSLILILL &)

(i) cotf+tan 6 = x Lmmib sec 6 -cos 6 =y
steofled, (XCyY)? - (xy®)? = 1 ererueng Hem & aea.
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9. (i)sin 6 + cosb = pummid sec § + cosecd =g

1+ . 29+2 . e_ 26
srexfled, g (p° - 1) = 2p eresTUDS DL & LD, _ l+sin sin@ - cos

Sia cos’0
“'L'HS - 4.1 2+ 2sin0
~  cos’
+ +
sece cosech) (sind + cosh)’- 1) 2 (1+sin0)
et - [sin®0+cos®0 + 2sinfcoso - 1] - cos’d
cose sinG, 2 . .
cosd LHS a’-1  2sin0 (sin6 + 1)
. 2 2
cose sind [1 + 2sincosO - 1] a+1 _ cos 6.
(sinb + cos6) 2(1+—sme)
— H 2
= cosO sind (2sinbcos0) . cosle ]
= s (sind + cosd) =2p = RHS _ 2sinf (sinB +1) cos’0
X cos’0 "2(1+sin0
(ii) sin @ +(1+sin’0) = cos’0 erefled, = cos®0 - - sin® ( )
4cos’0 + 8cos’0 = 4 saTumg HenpNSsaLD. - RHS

&iey :
LHS = sind (1+sin’0 ) = cos’0
= sind (1+1 - cos’0 ) = cos’d
= sind (2-cos’®) * = [cos’0)?
= sin®0 [4 - 4c0s®0 + cos*0 ] = cos’d (i) 6 =45
(1-cos®@) (4-4cos’0 + cos*0) =cos’0 | 2.sind =2 erefled, Osir I 6T6iT60T ?
4 - 4c0s’0 + cos'® - 4c0s’0 + 4cos’0 - cos’o
-cos'9=0
4 - 8cos’® + 4 cos’0 - cos6’0 =0
cos®0 - 4cos’0 + 8cos’0 = 4

560 8 66T & & 6ITLD

1. sin6 wmmib cosO —aller i ser TOGLTS)
FUTES @S5G0 ?

sind = 2 ereur gjemiowwmg). s7Gleareflev O < sind < 1

3. 0 er WHOY 0° AmEg 90°ueny o HsfsHns
sroflen, opm W&EGaETeTalwem allSgnsafla ame
UMM & SUILL TS L S8 em el Qumad ah & @1 ?

10. cos® 1 a-1 _ . . 0 : 0 .
Trsin oranfled, 71 sin 6 tan90°, cosec0’, sec90’, cot0’ g &lweammler
a‘rmumsmrﬂ LﬂC;& L Z &I 6T QIEDTILNIS SLILL TS S|
. 5 b D 4. () W&Camamailid slHsnissr @mULSNEGF
girel srEHwpssorLm ?
CO§9 =1 T () (P& Camemrailed ail& s mig 6T &T&SHILblevemev.
1+sind a . 5.0°<0<90°crer & O-61 WHUYS EH &G
a _ 14sing 191657 621 (1 61607 6 DN 6D 6T & 2_65BTEWMLOWIT(GHLD ?
(;Oie inoT? (i)sin6>cosH (ii) cosb >sin0®
a = [Tsslg] (iii)sec6=2tan6 (iv) cosecH=2cot6
Answers
1+sin’0 +2si
R w (i) 6 =60°,90° sranfisb sin6>CoSO
2 _ 1+sin’0 + 2sinf -1 (i) 6 =0°,30° eresfle cosO>sind
a-1 = c0s70 (iii) © =30° sreaflsh seco>2tano
_ 1+sin’ + 2sin0 - cos’0 (iv) 6 =0°,60° eranflsr cosecO>2coto
- cos0 Q@aweuri —1
.2 .2 .
- SIS + sin (3 pil2sme R GeusTenarSsmafled LLLb 6.4 (1) 60 2_srareury OX, OY
)Y Cos.e st @\ Qemi@sgis Carhisar O o shdHlsELm
_ 2sin°0 +223|n9 SDESBaLD.
~©os _9 OXeretTun g X g|&ansain, OY eearums Y 95esmaln
2sinf (sin6 + 1) (05816 QamsTGeourid.
= 2
cos'0 0 sr @MIUNILL GamemThis @hs @ Sind wmmih coso et
) 1+Sln 0 + 2sin6 + 1 W& IL& 06T FHILITT & &6riD.
a1 cos’0
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ty OB __5 _ DY s
OA_5.8_086 N = cos30
AB _29 g 1 _ tan30°
OB 5 3
o @udliyseflsr e WP&sCasmammailils 9L alsmemr
o LLLb. 6.4 (i) X WD &LoLd 6TeoT MILIeVmLD.

@i 0=30° sreirs.

uLid. 6.4 (ii) & 2 smereurn) BTG Q@ FarsHNG
Camr (hs sior® OA, LAOX = 30° eretrmeurm
Iowss. B-ulle shdls@urn A-ufmng OX-&@

QR Q&G 5815 6sT(H aumrs.
A
Y
1A
o) uLtb. 6.4 (ii) X

@Ueurws IsmeGasmamaul Lwstu®hss, AB, OB
womid OA-ele F6TSHma 26TS &L,

AB, OB

.. . . AB . y
o &b & 61T LOMMILD oy Sleinemm &
% OA OA ool OB mee

& T 6U0T 5.

@ Hemma semen Sl SHmg ? @HS LSHLLSmar
Y&GCamemralwea 9L L euememr L L& @ L 6T
QUL 6T ? 2 IS 6T (Lplg 6 6T60TEITEUT S @) (& GLD ?
@CzC8ure, 6 = 45° wpgd 6 = 60° g &
ComeamhisEhs@n  GCun&erL  epern WS SmeTs
SHTEU0TS. (@) 60T eL6VLD [HhIG 6T )6 G| 6T60T6ur ?

Ay

v

OA=58 AB=2.9 OB=5
AB 29 1

OA - B8 — 3 sin30’

perGeormm& G&ms; omeor
1. &Gamemaile eoildgmiseafler 67 etorsmflsem s wimen )

............ Ans.6
2. 1-cos’ =........... Ans.sin’0
3.(secb+tan0) (secb-tand) =........ Ans.1
4.(cot0 +cosech) (cotb-cosechH)=......... Ans. -1
5.c0s60° sin30°+cos 30°sin60"=.......... Ans. 1
6.tan60°cos60° +cot60°sin60°=........ Ansa/3 +1
2
7. (tan45’ + cot45°) + sec45° cosecd5’) = .........
Ans. 4
8. (i) sec 6 = cosecO eaaflev, 6 = ........ Ans.45°
(i) cotd = tan® ereufled, O = ..... Ans. 45°

v 6.2
1. 10\/_3 1ff 2 wirerer Ga s Heir 9)igufl6dl kg 30
i Qsremeailed Gengulled 2 erem e Lisrarfluiled (k&I
GCaryrsSler 2 &Aulleir 67Mm & 6 &iT 60T & 60 & & & IT 6507 5.
yerGCarmms GCemg emeor
giie
1073

Gamymid

30 o

0 6T68TLIG 6TMM & G S IT6TITLD 6T 63T .

10V3

tano =

\/3

oo tane ==

1
Sli- Slse

o0 = 300
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2. wm srtooulsr @mupuyd Gl GaieaflGw
@oorud aflmsurs of@sdar QorLrsdurs
o siremenr QyeuMlsir o wiph 4/ 3 15. urgET 6ayeui
sgrimouiler mwwl ugHule Hms6sremr @
aflmawrs o drer eoiQsmer Crrés@Hmmi. 30°
gon&sCaramsHe urssrfl eflpear 2 Fdmw
Crrs@EHmri aeaflle, sTmaulear 9 8605 ms s
& 1T 6007 &.
Sy

YNEXT

30" X
M

2Xx

A

v

FTEN6 9|&H6VLD
&memsuull6or cﬂqaasufni2x Lf. 6T60T .
tan30° =4\/_3
X
1 43
3 X _
x = (43) (3)
x = 121§
sTeorGeu, memevufledr gisevd = 2 X 12 = 24 1§
3. emmaur geamoLw oflipnE aafluileo
Rlermi Qs meir(h 6 (15 g.)sinmsﬁ]sh 2 &6 LHMID gpy

S dwaneon oG 60° mmin 45° &AW e7HmE
Corammasale sSrarHprr gefler o wirb

180GQ&.18. GLI]Q_ILD o pedlmhE 5 1f. Gg,rrsmﬁuaﬂsu
Sjeuii o aremmi 6reufley, 0 60T 60T G0l63T  2_ILIT 560 & &
&IT 60T 8. (\/5 1.732)

Eirey.

60607 60T 60

60°
45°

180
(AF:T)

mUIT

5.8
en6oTeuT60l63T 2 ILITLD = 4 L. 6T60T 5.

X

[
tan45” = 5
o X =5 Ly

@l —6

tan60°=h+x
h+x
V3 = 5
h+x =5V3
h+5 = 5y3

h =5V3-5

= 51/3-1)=5(1.732-1)

=5x0.732 =3.6616.

4. 1.6 b. o wywerer Hlemev eeirm 15_SHleir Grosd
Smuhgistarg smyuilgerer @ usreafluled b
60° gms CornansHe HAoeular o &d
o mumgeTarg. Guem 96 uereaflulled g
SLGSer o FAunerg. 40° gimsCeamen e
2 ereng) erefley, 15 _SHleir 2 WTHMBHSH Smewrs. (tan
40°=0.8391,/3 = 1.732)

&irey.

1.6 Lf Slemev

h 15_1b

40°

d
h ereoTug) 15_&dleir 2 wirid sTears LMHMID d eTaTLIG
HlenL L OsTemevey 6Tairs.

h
o _
tan40” = q

0.8391 =

h=0.8391d
1.6+h
d
3 = 1.6d+h
\V3d=1.6+h
1.732d=1.6+0.8391d
0.8929d=1.6
_ 16
~0.8929
S UL dler 2 wiyid=0.8391d
=0.8391x1.79
=1.5 (f.

Q.Ij

tan60’ =

=1.79
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5. “r” af. oy GsmarL 9my&HGsmers
eour_sdHear g “h’ . 2 wyeerer e @®
Qargssnun HndHmg. GlorL § & er
I mrg 7 5. Garmaaile emeur HHEHmm.
eui Qaryssnusdear o FAow 45° gHmé
CoransHan ANGULS5H50lmhg Cuaun 5 1.
Qarmee aodHs Goarm GC&Tys LU S er
Sgeow 30° gHms Camevor &Haitd LT &Emmit 67 6ofl 60
(i) QergssnusHar 2 wrn (i) gors Camears
GlurLgdear g g SHuaiHmms &6 s.

(3 =1.732)

h
0
2 30
7 . 516
Siiey.
. h+r
(i) tan45 = 7
r+7 = h+r
. Y0
(ii) tan30 =Toar
Ul r
N3 T 12+r
12 +r =3 r
12+ r =1.732r
0.732r=12
_ 12
0.732
r =16.39.6.

6. 15 1i. 2 wyperer @, GaHTLYTD 2 6Temg). 6 Lil6or
snussler g wHmd 2 FANNGmLE GamLTs Her
o sfloow YPeomGu 60° 30° ererm FHME
Coamammaaledd urigsreallear &bud der
2_IWIT &6 & 5> &I 6U0T &. .

Gamyrid

7' N

< 30°

LOl60T SLOLILD

— S— | ——>

60°

&6y
et Su 2 wryd h erers.  eTerugl CHTYTLD
LOl6tT SLDUILD & 6mLLILL L& SHTITLD 6T60T &.
, 15
tan60” = —
P
V3 =2 3x =15
X

tan30° =

—1

15-h
X
4 _15-h
V3 ox
x =(15-4)3
2-m 16 ruil
3 (15-hW3 = 15
3(15-h) =15
45-3h =15
-3h = -30
30
e
o LiletT SLoLIGlear 2 wirtd h =10 Lf.
7. soruile 2 erer @@ ConE S8 Sou 1: 9 eerm
aHgs5He NAssOU.Hearerg.  GCuHugEHaows
STl lg I SPILG S GMMaITs 2 6TaTgl. SHL0LS ST
Ieulleming 25 W Qsremeoelled 2 6rer 6
umﬂﬂuﬂsﬁ]@gg,a}mug@m GLo6d 1@ SHufleir 2_ & Hufleor
@\ @5 S T6d &LDLIS 60T 2_IITLD 6T 60T 60T ?

&iey:

1

-2

. 4 . &LULD
Sugdler o wirh = Ix + 9x
10x sretia
9x
X

2518
tan® = = tan26=&C
5

_ 2tan®
tan20 = 1-tan’o
10x 2x
25 _ 25

I

625

10x_§X 625
25 25 625-X

16(625-x°) 2x625
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2x625 3 A\
6255 = Q&u.m)ur.r@ .2 . . . .
10 Qer@ssiul L GpHons@E O&meamemr

-x* =125-625 =x* =-500

x =\/500 = V100x5 = 10v 51f
SabuGSsT o wrh =10x =10 (10V5) =100V5=(f
8. @@ uwemfl wmamw CrTSEH QF M EhH&Temeuile
uwenfl& S M.  aIQeurm w6 86060160l 5k HILD
me o FAufler MS Comamsms gerellHEmmi.
@retor @ QFHTLIT&F e emLned & 6060l6d @) (Hh G 106w 6
2 §85@© gHuOD gansCarmrniger yYomGu 4°
wpmd  8° eereyd, ErETH @LABNHEEHES
@eLiu’L Gsremeel 1 e 6Ter @ IHESHT6
wemeuilar 2 WTSmes srans. (tand’ = 0.0699,
tan8’=0.1405)

Eirey.
h
8’ 4°
— > X — — 1o —>
tan 8° V.
X
_h 1
x =
tan8°
tan4® = L
x +1
PR 2
tan4
1 - o 2-elipduil
h 4 -_h
tan 8° atan4’
h h

tand®  tan8®
h [tan8’ - tan4’ _ 1
tan4°tan8’
tan4’tan 8’
~tan8® -tan4®
_(0.069) (0.1405)
0.1405-0.0699
0.0098025

0.0706

=0.14 emwed (CamrmILLTS)

(P& G5 T6ITLD GUEMITILIELD.
& pHma
em Casryrd sHorsGE CEFmGSSTES 2 6Targ).
9&CsTYrSHer puldlmig 20° 5. AgTmaaie
o arer e Ustaflllelpna GCamryyr o Fssmer
aDm&Cameunin 45° 9y & @\@m&EHMI).

QonGamer (& G6smemrd

A

45°

c 200 et C

2) 2.8 1ff 2 wyperer @@eui 25.2 1If  GsTameaailo
o aTem Yems GursHlemwll urisSmrr.  gjeufler
uriemalled g Hmae GCursHuilaemLw o &8weir
ahm&Camemin 45° gy @Lh.

QemiGasmemnT (& 6smemrid

< 25.2.1f >
3) semyuiler Gued “ p°’ ereorm Lsrafluiledl mi g 20 Lf.
o wrperer UL &6 2 Fdluller eriméCamevoria 30°
I,Gn. sLLHHar o2 FSuller @&myp eeTm
gomiu’Bererg erafles yerafl p  Ol@mEG
QamgssnusHaemw o FHuller eFHms 6 s mevorid
55° gy @L0.
QenGasmemr (& G6smerid

200
A

30°
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4) Gfumers sramid goméCasremrn 60 60wkl
30° gy & wrmih GuTg) FwGearSHem o 6rer e Camryy
Blipedleir Femrid 40°15 oM & Hm s

QenGamer (s G6emerid

3¢

60° 30°

408

v

A

AL 8 60601 & & 6ITLD
1. o wrBISmeT i, G5mem e e s emariwLd
&6 & HHUSN S 6TIH S 060 ST (Lp & 65517 600 & 60 & L1
uweruBh SIS Gmmd ?
giey. OemGCosmear PpsCasmearsoms
uweTL(h &g HGmmi.
2. 5L L G&leir 2 Wiyl LHmILD asl_l_g,@arr Ijig ull6d (151551
TCH@ID 6@ umﬂﬂa;@tﬁ]sml_(.‘:m 2 oo GQBTEMOEY
Qarh&asiulymEsTe, &6 Hmd6s e
STaTUSNG dhd WEGCasTamale aldss5msi
uwerL(® & s Geuetor B ?
Siiey. tan- el LweTuh &s Goustor (hiLd.
3. uriemeauSG &I g 6T K6mid LHMILD 65 DM S G & mevorin
QarT@&s0UL g (B ST60.

(i) &L &H6ir 2 11756086 &I 6w0TLISH M G LD

(ii) slLLsHear oputldl@Ghg UTTS G
@Lg@m@ﬂml_(ﬁmmmm Q@ & 6w 6V m 6 &
& IT600T LI & 1) (LD

e PssTamalus alfHssSmsl LLaTUOSS
@ 6 600T ()LD,
gira). (i) sin- elldlsL
(ii) cos- afdlsid

1 Quid) -6

vl 6.3
1. 50 /3 1f 2 wipwerer @ uremmuilsir o &HAudled @i G
30° @m&ss Gamemr s g,smlruﬂ@ﬂrm W&l w81

QY uTissIUEEDG aafle, wHuybHnen
urrsmg_nasa;m@smdﬂmmmm@grrsmmsmma&a;rrsmrras

Sy

30°
503 1f
30°
. 50/3 d
tan30" = d_
1 50\3
V3T o d _
=(50+3)V3

d =50x3 = d=150.8

& PHEHN G UTmNE L @enL GuwiysTar STy = 1505
2. @iy 6tor () aal'_l_l_rijas@és@ @eLOul L el LS
Csrmewe) 70 g @W. @ rag SLLL Sl
o FAUOImHEG (L6 5|_|_|_g,§,\66r 2 585@ 2 erer
@nsas Gorawd 45° g @m. Gy mog
sLLLSSlar o wyid 120 1 srafled (psev HLL 5 Hleir
2 _WIT6M G S & IT600T 8.

0 A
i 45 57

SLULLLD
2

SULLLD 1

45° Y1120 5

T 70 8

70 8
Yse sLLLSSH6To wrd = hferers
120 - h
tan45’ = — =5
120 - h
T =770
70 = 120-h
h =120-70 h =250

S PS6 sLLLSH6r 2 wid = 5018
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3.60 i o wywster GemyrsHler 2 &Hulfledl s
Qen@s55Ts 2 a6 @@ oliTsEGs shusdHer o Fd
uHmid gpuflsr @n&Ess Caramrmas yaomnGw 38°
wnmid 60° arefe, eN6msES-SUSEHET 2 WY &6 G &

sreors. (tan38°=0.7813,V 3 = 1.732)
gire.
30° !
2 30
=
=
5
e
1111
60- h N6 s &5
x l
60°
h h
60° I
X

olleT& &6 HLugdler 2 wiyn = h L. eTers.

3 0
tan60” =——
NERL
X
_B0 3
* T3 3
20
80 3
x -
N>3
x =203
x =20 x 1.732
x =34.64| ... 1
tan3g® = 20N
X

0.7813x =60-h ...
x =34.64¢reor 260 Wy
(0.7813) (34.64) = 60-h
27.064=60-h
h=60-27.064
h=32.931f.

o 616 S & & Sl dler 2 wrh = 32.93 1f.

4. 1800 . 2 wrsSHe UMSEGL 6 @
urarsHdlmEbs @Cr Hamsulle ailnmersms
Crrasds Qanqin @@ UL Gser urisasiu®Sng).
AurarsHlmhs @@ uLGsmar womGu 60°
upmin 30° @EnéssCararmsale o Hm
Crrsflerme, @y ®H UGS EhSG0 @amLLiul LS
Qsremamels sreors. (' 3=1.732)

Errey.

30°

1800

30°

+«— A —>
d eTeTugl UL GSERSE @omLiulLs Qgmemae
6T60T 8.

60°
X

1800

tan60°

X
\V3x = 1800

_ 1800 .3
V3 43

\3 x+d
x+d = 1800V 3

x = 600V 3 eramw 26 T
600V3 +d = 1800V 3
d 18003 - 600V 3
d = 12003 d=1200x1.732
LGS Ehs© @l Guarer Ggrmea = 2078.4 15
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5. @@ sonsoy aflasssSsear o &dulled kg
s HQrHir ussmsafle 2 srer @reor® sl &sT 30°
wpmib 60° @Msss Camemsdo
UNi&SUIUL Sl6TmeT. &6k afler & &8 $eir 2_ Wi
h\f @@ sliud&er LHMID SokiGamy eil6rersd s Her
Ipiugd gdHuma @Gy CrIGCasT e
S mwSHlermer. erefle, @Il &L & ENHS G

@emLuC L Qg)rrsmmm\/%h— 1 ereur Hem 195 8.
Sirey.

\3
sTeor [BlemLNS HUILLL &

|6. 90 9jip 2 wyEerer SLLL SHer Cull@mhg eerfl
2o e Seomeormipgd Seum G mevor Ll eor
gresSurarg S Crrsd ammAngl. sULLSSler
o Al Hler gnsd QHsaenCumsg
[BEGCHTLLSSD o drar @@ Sepfldr Gnsss
Camemrin 60° oy @. Grean® Ml b sfl5e 56
|@néss Caramn oa& 30° GompHng. wWer
g Suiler prevye; amuflsdl@mbs Bemnm 30 3 oy
Garemeeailed 2 eremg) srefled leir GrsHdl HGL auHLd
G618 56m 88 & 76007 &.

gire. a
90 9yip
v
90-d
tan30° = 30y3
LI I
V3 3043
30 =90-d
d =90-30
d =609
.. . . S
Lilear g lullear Gousln = o
60 9)p
2Bl
=30 g /AL D
=0.15/Qmmy
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ufln & 6.4
1. 13 f 2 wywerer Q@ Lnlr'e_'r)',t_ﬂs&r Q_&é]uﬂsﬂ@!},g
wmnQmmm Lnlrg,@sur 2 5 wmm 9 uiler
qg_n,l_r)as(xaarrsmm LD!_I]Q]LI] @On&ss Gamern pammGuw
45° wpmia 30° ereflled, @reor moug 07 &S 6w
2 1IIY &60 & & & T 60T &. (\/_3 =1.732)

Errey. A
h
30° X
13
L 1318
30°
X
o 13
tan30" =—
RIE
V3 x
x =133 ... 1
h
tan45” = —
x
. o
x
h =x
@\retorLmeugy wrSdler 2 wyd =13+ h
= 13 +133
=13 (1+/3)
= 13 (2.732)
= 35.521f

2. sLe0lerr B L SHeNmig 40 L ;m&@E GG
o2 Tl Q@ SUudlear Gue ugGHulle Herm
Qe m&EN @meaurt, GerMlear o FAemw 60°
gn&CeransHmin gpiuGdHowu 30° @NEEE
(Basrrmrg@@m a;rrmrfﬂlrnmr eTeofled, & LIL160160l (5 1H &
G Mm&EEG 2 6aremr O Temeen o Ld
Gerlsire_ WIS msu)d srems. (3 -1.732)

girey. &6,
h
Sl
40 1f 1
45’
30° d T
40
30° l
d
o _40
tan30° = d
‘%
3 d
d =40y3 ... 1
o _ N
tan60” = 5
—_ h
V3 =g
N3=h . 2
d= 40\ Berar 260 AL = (40\3W3 = h
h = 40x3=120.f
LU S GTNISE 2 6mer Qsmamevey = 40y 3
= 40 (1.732)
= 69.28 f

@eorlerr 2_wimin = h + 40
=120 +40 =160 .5
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3. grflfleor B w L SHedlpHg h 1, 2 wysHeisrer

@ Yeraflufedlmha e CuasHer ermmé G s mevrid

0, wpmn efl Hfle elgd Guwsl MlibusHer

@n& 886G 0, Tefleb &emyuiledl gpmha GLo & & Seor
h(tan6,+tanob,)

=i tano,- tano, Rep e ay.
Sirey.
X
. l
0, Y T
h h
y A
x xth
tanf, = —
y
y =—
tano,
2h+x
tanf, =
y
_ 2h+x v
Y = ano,
& X = 2h+x
tan, tano,
xtan6, = 2h +tan0, +x tano,

xtan0, - x tan0, + 2h +tano,
x(tan0, - x tan0, )= 2htano,
2h +tano,
(tano, - tan6,)
Cuasdere wrd = h+x
_ 2h+tano,
B (tan®, - tano,)
htano, - htano, + 2htano,
- tan@, - tano,
_ h[tane, + tan6,]
B tano, - tano,

eTeur [HlemUSSLILIL L &)

4. o wgurear 9 HEGUITES @ lpull ol er
Sl mEgs moGCudl Caryr o &FHAuller
gNm&Careord 60" wHmb G ull @y er
o FAlO Mg GCamyy ojpuilsr @n&s5E Gamevrid
30° g En. IYO&EGWNy Gpuilmodsr 2 wirb 50 1
aafld gemeGCudls CaryrsSHear 2 wWTsHms s
srans. siafFsas sL@Our@ oflHwer wvig
I meCLE CamLrSdler @mmbSUL & 2 wiyn 120 1
@mss Gueamrhn. GCunsarL ImesGsryro
@558 s HUUT DG 2 L uBhiHnsT ?

&rey.
A
h &
h + 50 Guil@piy
X 30°
50 8 50 8
30° °%
X
. h+50
tan60” =
n Y
\/5 v h+50
hx
V3x =h+50 ... 1
. _ 20
tan30 *
1 _ 50
V3 x
x = 503 ... 2

x =50V 3 sterr 1 01 rHuN~3 (50v3)=h+50
150 = h+50
h =150 -50
h =100 f
ImeGuds Caryrsdler 2 wrd =h+50

=100+50=150 1f
TearGon gemtudls GCamyrd sl OurllenE
2 Luh&mg.
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5. 66 f o wyurar 9HsEULTEsS &!lpull@misler
o FANSIMBEG @m asEs sousHar o Fd
wHmin  gguier gNN&ECHTaTD LHMID EN&ESS
Comeaord pomGuw 60°.30°" o afl e
19) 68T 621 (1%, 621 60T 61 1) 60 M) &5 &5 IT 60T &

(i) aMlems @& slbuS et 2_WIFLD.

(ii) lar&EE®S sLU 2 LTG5 HMNGLW
I hsGurptlar 2 urSHNGW @ L Guww|erer
S HwmaFin.

(iii) eler&EG& sLLSHDGL IOSEGLWTysHEGL0D
@eL G o earer Qgmemee) ( 3 = 1.732)

Sirey.
60T A
h
sl
40 1§
45° v
30° d T
40§
30 l
tan60° n
an y
3 o=
X
V3x = h ... 1
., _ 86
tan30 =
1 _ 66
3 x
x = 66\V3  ...2 eer 101 rui
V3 (6643)=h
h=66x3
h =198 1§

(i) YyemaGudls Camyrsdleme wrn =h+66
=198 +66=264 f
(i) 2 wrsdne e Guwerst alsHwren =198
(iii) @evLiL’ L Qg Temevey
X =66 3 =66x1.732=114.31.

6. A, Bupmid C ererm epeirm Hymoeumdlser 6(m
UeTemSHTSHE 0 QeI SE&T T LTS @Lmmn
@ _ 6T 61T 6OT Ii - A-5@b, B-5@W @eL Ul L
fleoLwl’ L5 Qsrememe 8 &.uf. wmmid, B-5@ELW,
A-5@0 @eLOul L HoLwl L s Qgrmemea) 12 &1
A-d@h g, B-5@ 2 6161 @M&s5ECEHET6D MHMILD
B-dmhg 20° wpmid B-d@mhs C-5@ 2 6rer
anm&Camemrn  30° eresfled 1966r 6 66O UMD DM S
san&HHs. (i) A-&@, B -5@0 @ Guusrer
Qsm@GsHg 2 wrb. (ii) B-&@w, C-&@W
@ Cuuerer Gamhi@sg 2 wirb (tan 20° =0.3640,

3 =1.732)
30°
Erey. c
A
A
A 20°
h,
h,
v 20° ( 30° v

<+— 8 H.f. «——B «—12 Hl.d—

(i) A-&@0, B-5@LW @eL Gwwsmer Qam@sg
2 Wb A, 6T60T S,

1

tan20° = 5

h,= 8tan20
= 8x0.3640
h,= 2.91 6@

(i) B-&@, C-5@L @eL Cwiyster C&em@sa)
2 Wb h, 676078,

2

(A,

A_h

V3 12

12 3

h, - = x —
EEREE
_ 1293 |,
= 4x1.732
=6.93 .15,
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&1 & 60607 & &6ILd uiim & 6.5
o wrh, Qsrome wHmd gHNsCsHTearin |UoaT A5l aflermédsar
SIETUSNGS GONHESS TSSO IjerasHer |,
Ggemen ? " sin’0+ 60T Lo KL
&6, &emnhESLL&LD @), 9|aTe 56T CaHemel. 1+tan’0
. o (1) tan’0  (2) 1 (3) cot®® (4) 0
(peorGearmm & G & & 6m 6o Sion (2) 1
1. 2 mmGCK&@ueufler & etorevnfled @& Qurr@srﬂsur .
Q@ Yerefl&@ eusmmuin@in Casr@ ............ 3}, G 1D. TV
ey umienel Gasm
oy o sin® +—
. L 1+tan’0
2. @ Qumrmemsr > mml G,r_r,rra;@m Gumg)
feoLw L& Camlyn@d UTimeas Ga;rrl_Ly.g_n@Ln = sin0 +

@oLiulL Comeamd & @mel epevid
el uBSmg ?

gire). SHEwrLenel &mall eysuld jereill LLBhSng).

3. umimeusd GCamLmerg L’ L & Carllpng
GG @& Gurg Hu@D Gamemrid
2SI

giel.  ghHmsGsmemrid

4. QemG55Ts 2 drer @ Gurmafler (Camyrin)
gpmwu Crr&sflég QeambbCurg 9o er
TOMSCHTYTLD ....ccvnnnee

gie). 9 HsifsELh

5. uriemasCaTLTarg HaLwl L& CarliynEsd
&0y @msELeurg gou@mn Gsmemrin
2HG1D-

gial. ©@N&58 Gamerid

sec’0

=sin’0 +cos’0

=1
2. tanfcosec’0-tand —er &y

(1) seco (2) cot’® (3)sind
girey. (4) cotd
@Mliy  tanOcosec’0-tano
= tanf (cosec’0-1)
= tan@ cot’@
=1 cotio

coto

=cot0

3. (sina.+coseca)’+ (cosa+seca)’

(4)cot6

= k+tan’a+cot’a eresfled fe—edr oy

(1) 9
giey (2) 7
GMliy.

(sina + coseca)? + (cos + seca)?

(2) 7 (3)5

=k +tan’a+cot’a

(4)3

= sina+cosec’a+ 2sinacoseca+cos’a+see’a

+ 2cosasech = k + tan’a+ cot’a

2sina
+ sec’a+

= 1 + cosec’a +
sina

- tan’a - cot’a = k

2 cosa

cosa

= 5 + cosec’a - cot’a + sec’a - tan’a =k

=5+1+1=k
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4, sin® + cosO = a wmmid secH+cosech =berafld |7. x = a tand wmmid y = bsecH erenfled
Hec S IRE P S
(1) 2a (2) 3a  (3) 0 (4) 2ab ( )b2 ( )_2 = 13 )az b
siay. (1) 2a <y
4) = 5=1
@My b (a*- 1) = (sech + cosech) a b’
[(sinB+cosh)’ - 1] ey y X
1 17 Mz =1
= +— [sin®0 + cos® + sinBcosh-1] .
cosO  sinb @M. atand y = bsecH
—sine fcgose [1+2sin6cosO-1] %
= | & == ==
cosHsin® tang =7 seco =
sin@ + coso ) sec’® - tan’0 = 1
= |/ | [2sinOcos0] 2 2
cosfsind (y) i (x) y
= 2(sinB+cos0) = 2a b a
5 1 ) y2 x2
5. 5x*= secO wpmin— = tano erefled x*- — —607 7z -1
X X
Wiy 8. (1 + tanb + secH) (1+cotb - cosech) —eir Wi
(1) 25 (2) 1 (3) 5 (4) 1 (1) 0 (2) 1 (3)2 (4) -1
25 Sital. (3) 2
giey. (2) 1 @mMidy. (1 +tanb + sech) (1 + cos6 - cosece)
25 A sin® cose
@My, 5x =sechd 5x=tand cos6 * coso T Sin0 sino
sec6 1 tan6 cosO + sin6 + 1 ||sin6 + coso - 1
X = Ny ¢ = 5
5 coso sin®

2 ()
=(SeCG tane) (Sece tane)

sec’® -tan’0 _ 1
) 25 25
6. sind = cosO erefled 2tan’0+sin’0 = 1—eir wHIIY
-3 3 2 2
1) — 2) — 3)— 45
> @5 G @3
Siey. 3
(2) —
2
sind = cos® = 0 =45
2 .2 1 1
2tan’45 + sin’45 -1 = 2+E-
) 1
= + —_
2
3
T2

(sin® + cos0)* sin’0 + cos’0 - 1

sin’cos6 sinfcoso

2sinfcoso

sinfcoso

9. a cotf +bcosech = P mmmitb bcoth+ acosechH=q
sresfled p°- g° —6ir ALY

(1) a=b*  (2)b-a® (3)a+b* (4)b-a
Siray (2) a*-b?
&My
p-q
= (acotd +bcosech)’ - (bcotd+acosech)’

a’cot’® +b’*cosec’® + 2ab cotd cosechd
- b*cot’d - a’*cosec’9-2abcoshcosecH

(a’>-b’) cot’® -(a*-b*) cosec?d
(a*-b%) (cot’® —cosec’d)

(a’* 2)( 1)

bZ
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10. @ Caryrsdler 2 WSHHGL yHer Hipedler

Bers 6l @1 2 erer allflsnV 3 : 1,erefle @, flwemer s
& T LD 67 DM & G & IT6T0T 3] 61T 61T 60T 5.

(1)45° (2)30° (3)90° (4)60°
Siey. (4) 60°
Moy

tano =\/13 V3

& 0 =60° A

1

1. @@ Wer sunrarg Isear Ijpulle) FwserL
uriile o erer @@ ystaflulled 30° Cameawgms
TOUESSIANG. YO yaalls “D” 1 2 wrsHeo
o eremr @yeuorLmeug) Leflaruiledlapmg) Lher &1L S eor
I 5 @M&&E Camenrn 60° ereoflev A6 S1LIS S 6T
2 _WITLOT 60T Gl

(1N3b b b b
(2) 3 ()3 )3

Srrey. b
(2) =
3 60"

b-h

LO6OT SLDLILD

_h

30° 60"

V3x=b 2
() o @6 A3 (hV3) =b
3h =b

b

3
12. @@ Garyrsdler 2 wyn 6015, g9 @i. @ fluemer
. . - . 0 ° 0
snragid gnm&sGesTeord 30" d@mHg 45 98
ow@pbGurgy GCasryrsder flpeorearg x 1

GmmEHME) eTefled X 6or O HIIL].
(1)41.9218 (2)43.92i (3) 4318
giay  (2)43.9218

@My

(4)45.615

60
t 45°=_
an d

60x

60 +x =60\3

x =60x10732 -60 =x =60(0.732)
x =43.92.15

13. U 955G sLLGHear 2 FHulladlmng 20 1
o wywsTer SULL ST o &4, 9g %ﬂmmﬁ);ﬁ]ﬂh
@& &6 Camermiser eamGuw 30° Lmj)g)]ljl 60° sreufle0
LI6v gq@a;@a; sSLLLSS6r 2 wrh womn @@
SLLESEHSG @l Cuwuster 6 gmem e eaimer s
(i L_Mev)

(1)20,10y3 (2)30,5V3 (3)20,10 (4)30,10\3
&ty (4) 30,10V3

: h A
Sl tan30°= — 30° \60°

0 _
tan60” = T

V3d=20+h
() & (2 soLfirBui
V3 (W3) =20+h v g
3h - h =20
2h =20 h =10

SoalLESlere wgd =20+ h =20+10=301

@eL LUl L GgTemeve = h3=10y 38
14. @neiorR KLITS@EHSE @emLiul L GsTmaea] x L
I,G. e mufler o wywrerg @ewTLTaIg)
sufler 2 WFrSmal Gure @@ WLEISTS 2 6Ters).
IS EHEEG @mLliu’ L Qsrmae CKiGsesm iy sr
emwwll yeraflufledlgrnag @@ murseflear o &dlufler
TOM&Careamrmiger HriL&GCasmermhiger orefle,
GLeLwrs 2 srer KLUfler 2 wiyid (L Liflev) &imesors.

(1) 2x (2) _x (4) 2x

22

() x
\2

(2)

Gh
3.
2
|><

~

—

Q

=}

D

1
e

NN
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15. @it srflufleir GuCm h 1f 2 WrHHd o drar g |1 BepilGSaD.
yeraflullsll 58 GuasSne o-erer ghpsGaramd | - . secA-1 ., [sinA-1\_
Gus GiusBer  @néssCeremd 45 aafle, |() 04 | T—— |+ secA | = =0
erflulled @) 1515 1 CLo & & S\ & 26T 6T 2_WITLOIT 61T Gl ) 30 S6g
h(1+tanp) h(1-tanp) Site
1-tanp 1+tanp LHS = cof'A ( secA-1 )+ sec’A (smA -1 )

(3) htan (45°- B) (4) @emeu 6 eaTmLd @) 606w 60 1+sinA 1+secA

Biie. 1, secA-1 1 sinA-1
= +
(1) h(d*tanp) tan’A (1+sinA ) cos’A (1+secA)
1-tanp .

. 1 secA -1 1 sinA - 1

el SR ) _ )
X (sec”A-1) 1+sinA 1-sin"A  1+secA
1R C d = 1 (secA -1)
_x (secA+1) (secA-1) (1+sinA)
tanff ------ 1

tan45® = Z}E;X , y (sinA-1)

& d=2h+ x —mmeme- 2 (1sinA) (1-sinA) (1+secA)

M= «x _ 1 1

tanp =2h+x

x =2htanp + tanPx

(secA+1) (1+sinA) (1+secA) (1+sinA)

=0
x =tanBx =2htanp = RHS
x =(1-tanB) = 2htanp
2htanf (i) 20 1
X= =0 ii) tan“0 -
1-tanp ———— = 1-2c0s’0
=h+x tan“0 +1
= h+ 2htanf Sirey
1-tanp tanZo -1
_ h-htanp +2htanp LHS = 7
1-tanp tan0 + 1
h+htanp tan®o - 1
" 1-tanp T sec’®
h(1+tanp) sin0
e — -1
1-tan
p ~ cos’0
1
cos’0
sin’0 - cos’0 X cos’0
2 cos’0 1
= 1-cos’0 - cos’0
= 1- 2cos’0
= RHS
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@) 1+sin0-cosO 1> 1-cosO 4. acos O - bsind = c erefled (a sind + bcoso)
= =1 2 2 _ 2 o .
1+sin® +cos6 1+cos6 ta+b-c aerfepdssal.
aTeTLES HepiSé saib. gitey [acos6 -bsind = c|
iy (acos® -bsin®)+ (asind+bcosh)?
14 sing-coso1? = a’ cos’0 + b’sin’0 -2absindcosd +a’sin’0
+sin0-cos
LHS =[—] + b’ cos’0 +2absind coso
1+sin0+cosd = a® (sin®0+cos’0)+ b* (sin’0 +cos’0)
1+sin®0 +cos’0 + 2sin0 - 2sin0 cos - 2cos O =+ b
B 1+sin’0 + cos’0 + 2sin0 + 2sin 6 cosO + 2cos O = (acosO-bsin0)*+(asind +bcoso)?
2 + 2sin® - 2sin 6 cos O - 2cos6 =a’+b’
T 24+2in0  +2in0cos 0 +2cos 0 = ¢’ +(asind + bcosd)’ = a’+ b’

. 2 _ 2 2 2
2 (1 +sind - sind cos 6 - cosh) = (asind hbeost) = a +b -c

= = (a sin® + bcosH)= +Va’+ b*-c*

2 (1+sin6 + sin® cosO + cosob)

5. 80 f 2 wypsrarrSSler 2 FHulled 6(H LMem e
(1 - cos6) + sind (1-cosb) @OnsHns. sSoyuiled o srer e Lsreafluiled s
upemeuilelr  srm&ECasmemrn 45°.  umemen @G
2 wrSHled HeoLwl L GHo unng GFoflng. 2

(1+ cosH) + sind (1+cosHb)

(1-cos 0) (1+sind) Nearrgsear &f1685 96s Ueraflulled @i s
e (1+cos6 ) (1+sind) upsmanilsr gHm&Camern 30° erafle, umeme
un& @G CaussHmard srems. (\ 3=1.732)
1 - cosf g
- Y d
1+ cos6
= RHS
80 1ff 80 i
3. x sin’0 + y cos®= sin6 cosO wMmID x sind = y 5
cosO erefied x* + y* = 1 ereor Hem1NG & ayib. 45°
Site \ x d
.3 3 — 0 80 =830 ——————-
X sin’@ +ycos’0 =sinbcosO tan 45° =— x =80 1
X v
(xsin0)(sin’0)+ ycos’d =sin6 cosO 80
L, s \ok tan30° =
(ycosB) (sin“0)+ycos’6 =sinb cosH x+d
1 80

ycosh [sin’0+cos’0]=sindcosH -

V3  Xx+d x+d =803 o 2

ycosh = sinbcosd x =80 e (2) Iy 80+ d =80V 3

Sy =sind d =80V3 -80
xsin® =ycoso =80 (\/—3 )
. . =80(1.732-1)
xsinfa=(sin6) cosH =80x0.732
& x =cosH =5856Lﬁ“
x*+y’ =cos’0+sin’0 =1 ear HemiSs0UL L gI. umeneuufsir Goudin = ﬂ = e
m T Geyd T 2efermig.

=29.5610./Qpmg
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6. ollurerd eearm yell urlifing @) emerims
600 1. 2 s Hled 175 1i/6fl Cous & He GamHmg.
yefluller g e yeraflulledlmig eflorers g
o aren HM&ECHTemTn 30°. gy @b 968
yralell s gomsCsreamn 53°. &@
9$&M&s sreiauera) Cryh CoHmaiu@n ? (tan53°
=1.3270, tan37’ =0.7536)

600 L
600 L

600
tan53’ =——
X

1.3270x =600
600
x+d
0.7536 (x+d)=600

0.7536x +0.7536 d
600

tan37° =

=600

1 Omhag x =
1.327

x =452.1488
2— s il
0.7536(452.148) +0.7536d =600
340.739+0.7536d =600
0.7536 d=600-340.739
0.7536d = 259.261

259.261
d= ———
0.7536
d = 344.03.5
GITTLD 344.03.5
Crr = =
GeusLd 175 16/601.

= 1.97 Qrmgser (CamymuLTs)

7. @@ umemen A ereirm @)L S5Hedlmrg 30 H.if.
Qaremaailey B steirm @)L $HD@ 35 ComenrHHe
unsAmgl. B 48° Caneamsmss s 32 .15,
@sremaeaile 2 drer Cererm @)L &H0E & GawSmg.
(i) A- er uL&SGL Umwrs B-ar GQgmameae)
6TRIRIGTE| ?

(ii) A- er GuOHGL ymwrs B-ar QsTmee
6TRIRIGTE| ?

(iii) B- ar eL&EU ypwurs C-ar GgTmeae
6TRIRIGT 6| ?

(iv) B- er A&l uypurs C-er Gsmamee)
6TRIRIGTR| ?

(sin55° = 0.8192, cos55° = 0.5736, sin42’ =
0.6691, cos42°=0.7431)

e d,
42°
d;
o 32 .5
b
55°
d,
30 &5
35°
(i) d
sin55° = —— A
30

d, =30 (sin55°)
= 30x0.8192 = 24.58.f.
W) cos55° = .
30
d, =30 (sin55°)
= 30x0.5736 =17.21 f.

(iii) d,
sin42°’ =
32

d, =32 (sin42°)
= 32x0.6691=21.41.F.

(iv) d,
cos42’ =

d, =32 (cos42")
= 32x0.7431 =23.78.6.
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8. somsmy alaTss1 BMESGL @)L &S @mhs)
L 60led sTH Qi Hlemsuiled @) SHLILIDES 6T LILIGHTLD
@ & 11 &I 6ir M 6oT . somsmr 6flers s S 5 er
o FEWldIMBEE @@ sSUumsaflar QnN&Ess
Comammmsar womGu 60° whpmid 45°
SLULNS E1h5 @ @G 2_6T6r 65 T6em 6]

1
200(V3 +
(/_ \/—3) i erefllev Hvmisemy eilems & & e
9 ILIJLD & IT660T &.
ey

200(V3 +1) _
60° 3 x 45°
V3 +1
< 200( 3 )) >
V3
h
tan45 = —
P
h = x - 1
rango? = —
an =
200V 3+1-x
V3
V3 V3

200V3+ 200 /3 x
h = 2003 +200-V3x
x=h

h =200 3+ 200 -
V3h + h =200 3+200
h (3+1) =200 (V3+1)
h =200 If.

3h

9. @ G5 meile s LL (i, HAmeenw|d stH G Hi s
Semsuiled 35 1. @ewL Glouaflulled 9)eminfg)eirerreor.
slLLGder o &Adllphs , HAoe o Fufler
Fghm&sCaremrn 24° whmd HAme g uller
@178 56 &meverid 34 6r60f160 Hlemevudl 65T ©_wiFid 6T 60T 60T ?
(tan24°=0.4452, tan34°=0.6745)

Bie)
y
24°
3518 34°
-9
x 1
1
-]
5
3518
x
tan24’ =—
35

y = 35(tan24’)

y =35x0.4452
y = 15.58215.
tan34° = —
35
x =35(tan34°)
= 35x0.6745
= 23.6075u8
Hemeouflerr 2 wipd = x +y = 23.6075 + 15.582 =
= 39.1895
= 39.19.f.
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[8. Lemerfluflweyjio @asl;qg,&sm@

Hlemereflev Qameer Gauetorig LimE!
o oida=L-S (L-lsn@uflw eretor, S - ils&dfu

6T650T)
.. L-S
o afFE&0GeY = RS
> (x-%)°
NVGS UTHSHEF &l}rrerlﬂcs2 = _i=1
n
-2
. OLeflwémd o = Z("Tx)

o Sl L allssid (A5G S&ILIL TS me)

. Al Zx’ _(Zx,-)2
(i) GBIy oom © —\/T )

2
(i) gpmafl eom o = E
n

>d; (Zd,.) 3

(iii) oo e & Fymafl Wpeom o =\/ — "\

. . _ Az (Zd.-)z
(iv) g eflwss eom ¢ =C X —-—

o W56 n @ue erauorSefleir Hi1L_eflewssin
y n’-1
aay
o S allessi (DsTEGSSLILLL sme)
_A Zhd
°~ TN

(i) ermrafl opemm

2
(i) ssvsissyma e & =\ Lfd =

)

- 2

e wrmuri®s Oswelar wHioy Afusrs
@oisre, 95570 Ids Howns
semenwmLwgl. wrmur_ (s Gsepeilsr i
Quilugns @mLsTe 5510 GONLES Hons
& 60T MLOIL|L_ 65T (@) (15 & (G LD.

e @@w F amiiysF GCorgmeruied I mers5s
QML Sememud D)flibg) GIGTETET (Pipljid. Iy 6OTT60
G L eumiiiyger gyaflwii_mg).

(iii) Lig. eflevés (pemm & = CX\/ Z]{;d,- (

e wmmuM @5 6sy C.V. = ; x 100%

o g IFweminl GCsrgmeruile e &s0GLMID
Imersg sTs5EH  allemaraisaflsr GgmTELemLus
&nm)Qeuarf] ereorSIGmTID.

e A, B eraruer gearmmQ@umreary ofles @
Rapsdlaer ereflled ANB = &

o E ereorm Hla1pFAufleor fls108 8 eument 5

(i) emdwress HoL &s506u0mib
Repsduilear fospssaurarg 1 wHMLD
Quers Hspsduller Hspssaurarg 0
DHS1D-

(i) 0 <P (E)<1; (ii)PE)=1-PE)

e A uvnmid B gyerme spsirenmGuimsirmi afles@in

Ra1p&dser ereuflev,

P(A UB) =P (A) +P(B)

e () P(An B)=P(Aw' @) =P(A)-P(AnB)

(i)P(A n B)=P(B w'@id) =P(B)-P(AnB)

e Awmmib B oyeremal G @ystor® s s er
eT6ufled

P(AUB) = P(A)+P(B)-P(AB)

e A, B, Cererue G epeirm) Ha1p& s eeuflev,

P(A UBUC)=P(A) +P(B)+P(C)-P(ANB)-

PBNC) - P(CnA) + PANBNC)

uufimd 8. 1.
1. SpseETayld SrASEHEE 6iFs whnn eiFss
@& emeaIs &6t s.
(i) 63, 89,98, 125,79, 108,117, 68

gie).  efFs = L-S
ofe55081y = LL+SS
offe = 125-63 =62
ofe550a1 = —gg ;%3;
—% =0.33

(i) 43.5, 13.6,18.9,38.4,61.4,29.8
olés = 61.4-13.6 =47.8

.. 61.4-13.6
MEEUEY =14 136

_ 478 _
=5 =064

2. em srellsr aiFs wHmid s Sl iy gy Sner
poonpGw 36.8 wmmid 13.4 eefld HsOaGLIflw
wSllenLs Sirers ?
e,
of&s = L-S
36.8 =L-13.4
L =36.8+13.4= 50.2

3. Qar(H&sIUL L Sreller aiFma s &6 .

eu(pLomentid |400-450( 450-500 | 500-550| 550-600|600-650
oom fluirsefleor| 8 12 30 21 6
676007 600118 61) &
e,
oige =L-S
=650-400 =250
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4. it o Sifwirt womewoTeuIT &6merr, gjeurt sefleir GliipsmmL
uGeul g6t 60 uSSEIGMT Hlenme| GlFiIg LM
. pleormi T H wremreuiseT WemmGw 32, 35, 37,
30, 33, 36, 35, 37 ussnissmt W [HGCL Hamey
QaHmEgeri.  wrewauissT Heome] GQEinuTsH
u&snsaflsr S L ales s 86ms s &6t s.
giey. gjeurseflsr flemmey QEiuT S LSS migsT

28, 25, 23, 30, 27, 24, 25, 23

x d=x-A=x-25 o
28 3 9
25 0 0
23 -2 4
30 5 25
27 2 4
24 -1 1
25 0 0
23 -2 4
n=8 >d=5 Yd? =47
Yd* (zdy’
L afvssn o = - (—)
n n

8 64
A/ 376 - 25
= 64

_\[351 _18.73 _

=\ 55 =5 =234

Xd
n
- zgﬂ = 22222

>dbonT —
g‘;h'_|_ eSS0 :\/ — =\ 222.22 =14.91
n

NVGs UTEHeF gymafl =

6. s(m, Sioui slg&MLd 11w6uefl&E 1 pemmuid 2 weveflé e 2
weomud, 3 wamfllEE 3 eomud 66l erepliySHms)
orerfled @y mreafld 9&HS ST 6TelaIaTE]| (LPOM 660]
erapuyin ? Gueih Sip&THD 6Tl 6 6dl
evevor 6mfl & emnas s efleir L allesa1n &iTetors.

giey: 2+4+6+8+....+24

12% -1
52 12
_ 143
=2 12
=2 {11.9
=2x 3.44 =6.88 = 6.9

5. 10 eanfluni sefleor 2arhluid £61p GarHissau @sTemg)
sarfluiisefler eflwss aisss rrafl wOHmID S
afle& 1D SIT6toTS5.

D 310, D 290, D 320, D 280, D 300, D 290, D

7. o 21 @ue aausaflar Hi L NsSESMmSE
1T 6U0T 5.
Eie). 1+ 2+ 3+ s +21

12

1/ 1% -1
= 12
[441-1
= V12
EZ K]
=N 12 K
=1/36.6_= 6.05

8. am srelar i L elwssn 4.5 gGn. I Heo
@nsGWn syl yerefl eiGamsrdlann 5 @  siflss
oL &G0 U syellsr S L aflesasin &imetors.
Sie). yuHw srefer S L eleudaso = 4.5

(EQesafled epeuGeumy, &L 6oT 6GT eTevITEM6TITS
&l lguTayld 9| SISSTID 6T S L allgsL
Lonpns)

3 2 o 3
D310, D280
6.
a > x 3TU0+2Z90+320+280+300+290+320+F3T0+2Z80
SO\VAN 9
2700
= = 300
9 —

X ad=x-x a

310 10 100

290 -10 100

320 20 400

280 -20 400

300 0 0

290 -10 100

320 20 400

310 10 100

260 -20 400

#=0 8 260606

9. ewm srallsr S alwssn 3.6 gGb. Is6r
ealGamr@ yetaflmwud 3 o0 AGHG Gurg
oL 5@ yHu syellsr S L aflessin nmib eladss
AUTSE&F STTSIflenILS &IT600T 8.

6. 3.6
ity yHw S L eflevssin = 5

=12

UHW edlevs s alisas grraf] = 12°
=144
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10. @ anmTsHo ong wrall L hsaflo GaaiGoum @i mseafld Guils wepuisr gerTourers LSHey
@i’ @ S6y QarH&sULL (HeTers).

snipieme] (Lbl.Lf) 45 50 55 60 65 70
@\_rus efleor 676toreunfl & om & 5 13 4 9 5 4

@arhssiu’(Hstar wenpuareisr SrallhE S L afessLn sretrs.

Siie.
%6 f fx d=x-x fd fd
45 5 225 -1 -55 605
50 13 650 -6 -78 468
55 4 220 -1 -4 4
60 9 540 4 36 144
65 5 325 9 45 405
70 4 280 14 56 784
40 2240 2410
GO RS0 56
2 f 40
>fd’
L ellwssn = \[
Xf
\/W 0
=N"a0 = \60.25 =776
1.  eweaursv smiFgmeol updl SmSSHS Seuliniled, uTHssiu’ L wsseflsr oeameaflsme &6
Qarh&asIu(Herers).
aUILIG)| (61 (hL_TB1S61f16v) 0-10 10-20 20-30 30-40 40-50 50-60 60-70
urSl& UL L w&sefleor eTetoremfl s one 3 5 16 18 12 7 4
@\&sTaM6T HIL 65008610 ST6vors:.
girey.
CI 06 f x-A g X -A fd fd®
c
0-10 5 3 -30 -3 -9 27
10-20 15 5 -20 -2 -10 20
20-30 25 16 -10 -1 -16 16
30-40 35 18 0 0 0 0
40-50 45 12 10 1 12 12
50-60 55 7 20 2 14 28
60-70 65 4 30 3 12 36
65 3 139

~ \/Zfdz (Zfd)2 139 _(3 )2 . / 9035 -9
c = cx SF - Tf =10 x 65 65 =10 x 2225
/ 9026 95.005
= 10x E = 10 x 65 = 10x1.461 =14.6
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12. @@ Qg,rrlﬂ_l_i]&rrﬁmﬁ)uﬁ]ﬁi) swrflssiul L s Hsaflsr efl L gjereysser (QF.15—m) £CY QarHsasiuL (herTereor.
@a6ir Sl L s)ﬁlmasa;m & IT6O0T 8.

21-24 25-28 29-32 33-36 37-40 41-44

15 18 20 16 8 7
CI x f x-A gocA fd fd?
c

20.5-24.5 | 22.5 15 8 P -30 60
24.5-28.5 | 26.5 18 4 1 -18 18
28.5-32.5 | 30.5 20 0 0 0 0
32.5-36.5 | 34.5 16 4 1 16 16
36.5-40.5138.5 8 8 2 16 32
40.5-445 (425 7 12 3 21 63

84 5 189

>fd* ( f)z :4X1/189 _(i)2 B 1/15876-25
>f >f 84 \84/ =4XxX\ 7056
_ 4X1/15851 _ 41259 =599=6
7056 84

13. 50 Lomeoreuri &6 100 L L1 g,mrg,cmg, FL&S T(H5515 CsmerL &re gjare|ser &6l GsrHssiuL (herereor.
Ijeummler S L eilev&&LD &iTevors.

QIoLEAEAE N M i G 8.5-9.5 9.5-10.5 10.5-11.5 11.5-12.5 12.5-13.5

LOMm6uoT 61T & 61f 60T 6T 680T 6u6T1 556 & 6 8 17 10 9
CI X f d=x-A fd fd®
8.5-9.5 9 6 -2 -12 24
9.5-10.5 10 8 -1 -8 8
10.5-11.5 11 17 0 0 0
11.5-125 12 10 1 10 10
12.5-13.5 13 9 2 18 36
8 78

3836 = 61.935 =1.24
50 50

14. 100 wrewreurgser Glametor 21U @@sﬁ]sb S|6UIT &6 ﬂ@tj,g, m@ﬂ@umﬁw;ﬂﬂsh synafl  LoHmyio
S L allev& swmers) @psu)!_n(.‘?u.l 60 Lng)gum 15 g @w. Ulesreri 45 wmmin 72 srarrgn @wm Lng_ﬂuG]umT&;@as@u
uders emGuw 40 wHMID 27 eeaTn SN La) Q&u_lu.lum_l_g,] Qzflw anss goumomng &fl Qg
SenL_&&06umid YHw gyeller syrafln S aflvssid sretrs.

S, n=100 X =60 o =15 )?=sz Yx = n¥ = 100 x60 =6000

gflwmer Y x =6000+45+72-40-27=6050 @&flumer x =6050= 60.5
NS S6UTSHS Frmaifl

o= S5 ) (z_x)2 - 1z sflumer Yn’ = soummer .Zn: N 2 sifumer Yx *
n n — (s6ummsoT LogLIL) o s
N _x 602 =225 + (gflwmeor )’ — (gfwmenr x)
- 100 = 382500 - 40° - 27° + 45° + 72 | = 387380 _ g0 5y
= 22X _ 595 4+ 3600 = 382500 - 1600 - 729 + 2025 100
100 + 5184 = 3873.8 - 3660.25 = 213.55
x -
= = 3825 = 382500 + 7209 - 2309 N ryrerl
SeUmmesr > X =
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15. o sreyl yeraflsafler arymeifl Ln;_i;g)jfn afles s
aisss syrefl weomGu 8, 16 g G  9He g;;_r,g,]
SreL Llﬁll'ﬂﬂaiﬂl'2 4,10, 12 wmmid 14 sreflev LiGLD 2 eirer
@ sreyll eteflsemens oetorL_nls.

g6y,
x ==—=8
LB&(L6ITET @\ HSTOSET X, Y 6T60TS.
2+4+10+12+14+x+y
7 v
42+x+y =56 x+y =56-42
xry =1 o[E=itx]
s _ XX’ (Zx)z
° n \n

22+ 42+ 107 +12° +14° + ¥ + _g?

16 = >
4+16 +100+ 144 +196 + X + i/
16 + 64 = 7
7 (80) = 460 + X’ +
X +y +460-560=0
X +(14-x)%-100=0
X+ -28x +196-100=0

2x-28x +96=0

K -14x +48=0

(x-6) (x-8)=0

o X = 6 9jeeg 8

x =6 eterfled y =8, x=8 ereafled y = 6 sTe0TGoU LODHM G
Sre &6 6, 8

2. 10 sreytl yeraflsaflsr g (g6 265 ererfled gjeumnleor
asyreiflwuerg——————

Siia) 265

3. @I L sreyt yereflsefler s. GG ommin symeifl

gy Swemal pommGw 407 womid 11 aeflle  Sre
yereflaefleor 67 6tor 6ufl e 6m & ot &) ——————

Siey. 37

(peirGeTHmE Gom s 6meor

(PS6O UGG LS 6T6tor S6ifledr OIF & ————— S0

giie). g6 10 usT erevorser 2,3,5,7,11,13,17,19, 23,29
oiFe: = L -S
= 29-2 =27

81k, 5 60601 & S 6ITLD
Nss aissE sTTafl ) MM 6TeHTemTTS @)
(igujiom ?

Siia). (Gemm eTeuoTenonTs @Q\(H&s (Pigimg). eTGlamafls) 9|5
I L allusaSH6m aliéeLD 9 @LD.

Sk 56meus S6ri

AL alw&sn, aflwss aisss asrraflow e
Quflsrs @m&s (pigujom ?

giiey. B\m&s Pipuing).

WperGarmmé Comrs smeor
s s aurseE armaf 0.49 srafled S L ellev&sLomers).
Siey. 0.7

s 56m60T S SH6TLD

1. Qer@ssiu’ L yerafl eflammsenses syrsafl,
@ whnn YsH IJSumar 6T wHimLS
@& mevurig (1 & @Lom ?

gita). Ourgieurs syrerf], @emLhems wnmid s CT
wéllenus Gsmare (HSSTG. Gam@ssiu’L  yererfl
afleunmiseT @Iwsflemey LiTelens @)(mhoSTe Ijemel eGy
g lisnL Q& TeTle (58 E)LD.

2. &L Fsmmaflsghn smmefsgn @ Guiumer
aNSEHwreid eTeirenr ?

Sirey.
@\su6mev.

&L grmefsgn srmaflsen  allgdHuresn

SI1k, 560601 5 S 6ITLD
1 63T 6T60EVIT LDEIIL| S (6Th & GLD
(i) 2 (x-%) (i) (Zx)
SITCO0T (Lplg WjLom ?
&iT6). STeoT (LplpiLjLD

(i) 0 (i) (n-1) x

-x  gydweubmer wHiemus

A1k, 5 6m 60T SH6mLD

n g;lrmu umﬂﬂa;ﬂﬂm &l}lr&rﬂu.llrmg] x Gmgm
WS g_guuul_m GEOTEMMILILD, (@F6TOTL_ITLD g_guuul_snr
@rerenL Wb & lp eTerr @eieumn QSTLAEG vl lgp&
GQarawGL Gumermed yHw &yrafl ereremours
@wmsGn ?

Siey. ydu syrefl
6T6noTS611160T SFITITEIT.

= usoLp sl + (S N @lusy

Qaweoum(m 1

srorar(hs GCsia] wOmId Wse EmLs 6siea)
g flwaimled mbg urmiseafld Bhisdar GQubm
wHIQuaTHmers CQarar®h sSallssalurss
S Lallwssn sreans. ol saflldlmhg Hriser
ereoreor Q&ifh g Q& metor e e ?

gie). L elvsssdar wHiy HAilusrs @)\mHeTe
&ieno 2_eoL_w Lo IGILIeTITETTT(SLD.

perGarmm& Gars smeor

1. ereurs Sreyll Yeraflsemeryd &ullp, Sreyll
U o 6ifl & aifl 6ot 67 6007 600fl & 6 & W T T O 61 &) & B IT 60
SeoLOLg).

Sia). 1. & O& syrefl

A1, 560 6075 S6ITLD

() m srafldar S Lealousswonarg 2.8 gmearsgin
Sra|UiLerefls EhL6ir 5—m& gn L ig6Tmed HemL&@GL LS
AL NNQOEHLOTETG. eeermeemena

Sie. 2.8

(i) p, g, r gyEwemmdlesT Hi_ L elev&simerg S erefle,
Dp-3, g-3,r-3-Wllsit I L efe0&H&5L0M6T ) -.......... G0

giey. S
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uufimd 8.2
1. @ srellsr S’ aflvssin womid syrefl g Swer

5. 24, 26, 33, 37, 29, 31 s dwemmer
wrmur’ (5 G1&pemeasd &6t .

psmmGuw 6.5 mmitd 12.5 steflsb rmiLm” H15 G5 emeus St
&IT6T0T 8. 7 = 2X
n
. C e 1aC — _24+26+33+37+29+31 180 _
Siey. rmum (& &y ==X 100 x = 3 =5 =30
d=x-x d
6.5 d
= —5X 100 24 -6 36
' 26 -4 16
;% 4 33 3 9
= Eg X)]'C'G = 52% 37 7 49
P 29 -1 1
- T — 31 1 1
2. e gueilsir Sl 1L aleuss1n mmid wrmur” Hl& Glsp 12
g $wer eomGuw 1.2 wmmd 25.6 erefled 9 56r —
FTEMeIL& &IT6t0T 5. - = \/ >d
ﬁﬁ'ﬁu. o n o —
C.V. ==x100 112
X \/—6 18.66  4.32
1.2
25.6=—3Cx100 C.V. == x100
- 12 12 4.32 432 o
2 = =——=14.4%
—X100—2—56x100 = 4.69 30 x100 30

25.6

3. e sreailar syrsfl womn wIMUT_ @GS G&Ep
yomGw 15 womib 48 eefllod g er S
6116085 8 & 608 EIT600T 8.

gire. c
C.V. =3 X 100

48 —1—5x100

48x15
100 °

_720_72
“ 100 &

o =

4. n=5%X=6,2x =
Q& 1pemeus: S iTeuors.
=)
n

.4\
- 62

765 erefled Lommum’ HS

>x
n
765
5

153 - 36

=,/ 117 =

C.V. =—=x100
X

&iie.

10.8 17

108 17
6
1081.7

6
= 180.28

x100

6. 8 wmemreuissm 6@ Lreafld aI - (HI um_gsmgj
YeiuzsnN@G OS85 OQsTETEHD ST I6Te|S56T
(BLil_mseflev) NetraupLomm Qer@&siu’ HeTerg. 38,
40, 47, 44, 43, 49, 53 E&sTeler LIMLT. (H&
@& e 618 &I 6toT 8.

— _ 22X
YT
. - 38+40+47 +44 +46 +43 + 49 + 53
- 8
_360 _
=22 =45
% d=x-X d’
38 -7 49
40 -5 25
47 2 4
44 1 1
46 1 1
43 2 4
49 4 16
53 8 64
164
A
- =
n_
=\/18ﬁ =205 = 4528
o
C.V. =TX100
4.528
=15 x100 =10.06%
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7. 5w wHmid efSwr @@ 5 urLkiseafled CubDm
Qurss wdHiCuemssr WeomGu 460 wHmD 480
LG Gugid g6t S L allossniser amGu 4.6
woHmid 2.4 eefled wr@goLw GFwaSner NGHS
Hemes &,,6iTenLn GlasmetorL_gj ?

Siie.
FSWIT eSlGwim
2x =460 2x =480
n =5 n =25
c =46 c =24
. 2x _ 22X
X = — x = —
n n
460 480
= — =902 = =
5 9 5 96
C.V. =—=x 100% C.V. ==X 100%
4.6 2.4
=02 x100 =36 x 100
_ 460 _.240
92 96
=5% =25%
25 % < 5% ererGeu eflGwmeilssr QFweSHme WGHS

Hlemeu &S 6oTenLn Q& TevaTL &)l

8. @ auEll® 2 srer 40 LOTEWTEITSET, S6wflsLn,
gfiaflwe wHmid seps  gflefle o & epeTm
urLiisefleo Qumm wHiGusmsaflsr symefl wHmID
S L aflvgsin 61 Qar@s sl (Hiererer

LITL_BI& 6T gymafl 1L el sid
&60ufl510 56 12
gMefled 65 14
seps gdlafwe| 60 10

@55 epeirm) UTLEiS6fl6 678 9|Hs Femes SeiTenLo
QaramLg wOMD a5 GONGHS Homssmin
Q@& 6015 ?
ek v - = X 100%
semflgsSler mmium” (H&0ls L)

= %x 100 = 21.43%
leSwedlest ommium” (Hé Gl&Lp
14
= — x 100 = 21.549
5 * 00 54%
gelpa gledwedlsi ommiLim” (Hi&6ls L)
10
= —x 100 = 16.679
60 ¢ &
9|65 Flemevs SetrenLo GlamevorL LITL LD FeLpgs inladliied
GONES Hleneus seimenLn G mssorL LImLLd gyfleilued

9. @@ EErmESeT A wpmid B — wler @efli
srsde Hoam Galublme gaassr S6i
QasT(H& LU (H6TET6oT.

k&1 A e GeuliLflenev (ig £ifl GlasvSliwer)

k&1 B et GQeauliLiflene (g &ifl Qe fwenv)

11 14 15 17 18
ahs BaTurarg Gealufme wTmuT@hsefleo
o &sLomer flemeus s 6iremin GlametL &) ?

iy
_ >x 18 +20+ 22+ 24 + 26
x = — T
n 5
110
=— =22
5
X d=x-X d?
18 -4 16
20 -2 4
22 0 0
24 2 4
26 4 16
40
_y2d’
G =
n
=.[40 ={8 = 2828
5
-9
CV. =% x 100
= 2828 , 100 = 12.85%
_ Yx _ M+14+15+17+18
x e -—
n 5
_T5
=5 =
X d=x-X d
11 -4 16
14 -1 1
15 0 0
17 2 4
18 3 9
30
c =4/ 3d®> =430 =V6 = 2449
n 5
(¢}
C.V. =5x100
= 2449, 100 = 16.33%
15
12.85% < 16.33% eteniGau, marn A 958 Hemeos
S6TenL0 QS TeToTL_&)l.
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WperGerHmE Comsemeor
(i) wrur@s Asweararg ............. FMHS

LTHNSMS &6 SHSEIL 2 Gajl.
gie). SIL allussin
(i) &L eusssms, srraflumrd a1ESHS5me
302 )TN 1T )
giay. U H& Cl&Lp
(iii) wrmuTM’ @GS C&WaITETS) .............. (11717 71)] LI
I SwaINmmE FiiThg! @)1 GSL.
e, SIL alleuéaid LmmiLd srmerf]
(iv) e syeilsr, syraf womio i L efossiomearg 8
wmmib 2 eTerflev, |Geir MMILN H& Cl&WITET) ...........
DHS1d-
gie. 25%
> 25
Gfliy — x 180 = 25%
B &

(V) @raor®@ sreysamer U@L CuTg), 6Thss Srailer
wrmur’ (s Gl @msEGtur 98 Fimus
SETOLILIDMSTS (@) (55 GL0.

giie). gdlsLns

uuilm& 8.3
1. eLp6ITm) KT EOOTILIGIG 6T SisuorL_LILIHID GlLITpg) HemL&@GLd
& miGauaflemwl 1oy aImTLL S LETUHSS) 6T(108)15.
&irey.
S = {HHH, HHT HTH, HTT, THH, THT, TTH, TTT}

<<H
<

%N %N %N
OB OWON_2 OORROWON - OB WON_2 OOPRROWON -

2. ewm cullgerer 1 s 6 aldr  eTEUITSET
Gs&siu’ L  uhgsafldmha @U@  LhSIS6T
a@IusNSTeT g miGleuaflemil 10T eIENLLIL LD eLpEULITESHE

GG s.

. > S = (1.1)(12) (13) (14)
1 3 (1,5) (1.6) (2,1) (2,2)

4 (2,3) (24) (2,5) (2,6)

> (3,1) (3.2) (3.3) (3.)

(3,5) (3.6) (4,1) (4,2)

; (4,3) (4,4) (4,5) (4,6)

5 3 (5, 1) (5.2) (53) (54)

4 (5,5) (56) (6,1) (6:2)

g (6, 3) (6,4) (6,5) (6,6)

3. @ FwamiiLF Camsmeruiled 6 Flop&d A ereirs.
@rig P (A): P (A) =17:15 wbmib n (S) = 640 srefled
(i) P (A), (ii) n (A) - 95 sretrs.

P@A) 17
Biiey. @15
17 _ 15
() P(A) =35 P(&) = o5~
. n) n(A) 17
(i) P(A) =FS)= 510 =37
20
17 x 640
n(A =7_1= 340

4. @@ HTNUD epsTn eom &Seur (LS DG
@rean® IO55055 UsSs6T Sl L1Lsmsmer
H&15 &6 eTeimer ?

&iiey.
S ={HHH, HHT, HTH, THH, TTH, THT,
HTT, TTT}
A = {TTH, HTT, TTT}
P(A) = niA) _ S
n(S) 8
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5 86 Qurrg] aflprefled, 1 1ps6d 1000 eueniy eTevorsarflL
ILmL&er @ Gulipuiled me&sUur (HeTerer.
alemerur(Hid  euGauTHeuD g||_sm|_smm&
suaminiy eomnuile a@sHDTTST. MHSS I DL
Sy maussiuLailame. ngny,Gg®565UULL
I enLufled ersvor. 500—g afl gyHlsI0ME 2 6irem EUITHS
eTeuor @\(MEST6V, gt Geummlssmer Lflemall QumieTT.
(i) o6l allememur@ueur Lfls Gum (i) Woeomoeur
Qap)l Quibm ImE @ TausTs aflsnemurbHLeour
Gammdl Qum gHw ANesP&EHsEnssmear
0510585685 6m6TE SIT600T 5.

23?=529 ...
— 23,24,25 ...

312=961
31

girey.
9
(i) WsedeL efemsmumGueurt ufle GQupy =——

1000

(i) @revor_meugrs eflemsmum(hiusur Qeuma) Glum =8
999

6. @ i 12 Beo BAWiGgsERD  x ey
BmiubsSEnHD 2 arerer.  Fweaumiliy Wemmuils 6
ubgl GoikesH&SILGSHNG. (i) o8 Heuiy
BniuGEsTs @@mUuEsDaTar HENSSmals o6t s.
(i) 8 yHw Aeuly AMiLGGSET LM WSS
Bereri, @@ HAaidy Bopiukms
Coims@ssiusnsrar  Hopssamars (i)-ullsd
Qupin’ L flspssmeall Gure @)L ki@, sTefle X 6
L& 6060T 8> & T6uoT .
&6, Boo Aimiuhgiest = 12
oy HimiLGgissT = X
Qurssl upgiEsT = x+12
(i) Aoy BimliukgissT SenL_&s Hepssean = x_12
1__apdos
4+12 16
(i) 8y el HMLILIGSIS6T me1S S LlsdTear
oo BimiiLGgiser =12
oy HmiuggissT = x+8

1
4

Qrss ubgiser = x+ 20
SnGUTE Fauliy HnUILLGIS6T HenL &6 Haigsea)

x +8
T %+20
(i) sirPogoon =2x () ér Hopsen
x+ 8 2x
T x+20 x+12

K +12x+8x+96=2x> +40 x
= 20 +40x - % -20x-96=0 x*+20x-96=0
(x +24) (x-4) =0
=x-24 ,4

7. @rsor® Fymer LGL 6T (PMILNTS Gr CHyS 56
2 L LUu@Eermeor.

(i) @raon® usoLsafllgid Gy ws wEiy
fen_58

(ii) s wHiysaldar CQumssHUMET LST
6T 6U0T GTOTIT &5 &5 EH\6ML_ & 8.

(iii) ws wHIysafler s OS50 LST 6T6OT6mTTESS
flonL_58

(iv) @& wHiysefsar s @0 1-985 @MEs
IS Rs1p &S sefler Hl&1)5 861866 s &6t .
giey.  S={(1,1) (1,2)...... (16,6)} n(S)=36

() A={(1.1),(2.2), (3,3),(4.4).(5.5). (6.6)}
n@a) 6 1
PA) =1 "36 6
(i) B={(1,2),(1,3). (1.5).(21),(3.1), (5.1)}
nB) 6 _ 1
B) =—= =2z 7%
n(S) 36 6
(i) C={(1,1),(1,2), (1.4),(1,6),(2.1), (2.3).(2.5),
(3.2),(3,4), (4.1), (43), (5,2).(5,6),(6,1),(6,5)}
n(C) _15 5
(C) S ——— T .
n(S) 36 12
(iv) D={}
nD) 0
PO " 5® 36

8. eupsiTm) 6T HTETILIGISET (LPEOMILNTS 66T CHTSSH60
gicuor LI (b leoTm6or.
(i) oMETSHFID HMOILITSHE HenL_ &8
(i) GODESU&1D 6@ LI, HenL_&86.
(iii) gHsUL&1D @, Hene SenL &
(iv) gdsulsn @ramh USS6T HoLs5s
IS &mer K&H1)5 8 6)|56M6TS &IT6w0T 5.
&iey.  S={HHH,HHT,HTH, THH,HTT, THT,
TTH,TTT} n(S) =
(i) A={HHH}
n(a 1
n(S) 8
(i) oyFlauL &b (m HemeSHlmL &8
B={HTT, THT, TTH, TTT}
n(B) 4 1
niS) 8 2
(iii) 9iFlsUL &b @ITevor(h L, &86T HlevL_&58
C={HHH, HHT, HTH, THH, HTT, THT, TTH}
n( 7

n(S) 8

P(A) =

P(B) =

P(C) =
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9. @ysior(h LsemL_Safle epeiriled 1, 2, 3, 4, 5,6 eTeoTmid | 6 3
wHOnr usamLule 11,2, 2, 3, 3 srarmib s wHiyser | () P(W) = —= —
GnssIUl(hetarear.  gjmel @rar@L 2 @ LOu@GiD 26 13
Gurg) Sl &G W& wHiyseaflsr . HGw 2 Yo 9| . ) . 8 5
sy ga@arm wHiyb HeoLdugnsrer| (i) sGIYI00g doy =—+ —
B85 smas &6fl5seaflunrss & s. 26 26
ey S={(1,1),(1,1),(1,2),(1,2),(1,3),(1,3)(2,1) 13NNY 1
(2,1),(2,2),(2,2), (2,3),(2,3)....(6,3)} "~ 26 2
n(S) =36 (iii) P (W) = 1-P (w)
A={(1,1),(1.1)} 3
= JLBianRt
(DB 2 Sl sHe = —
05 36 13
B={(1.2).(1.2),(2,1), (2,1)} _10
B 3SmLd 4 13
e (s 3HmLs = —
3 36 (iv) G e @sé 6 8 14 7
_ iv) Qeusitsmer, S@HULTS @(H&HS =—+ — = — = —
C={(1,3),(1,3),(2,2),(2,2), (3,16), (3,1} 26 26 26 13
(B0 4 HevLsHs = — 7
36 GausTems T, SHLULITS @levemoalms s = 1 - —
D={(2,3),(2.3),(3,2).(3.2), (4,1), (4, 1)} 13
6 6
(o0 S Sl = 36 = TS
E= { (313)’ (3’3)! (412)’ (472)’ (5!1 )1 (5a1 )} 11. 69 (1 QLII‘_I_’_U&]G‘U 20 @ﬂnﬂ]u"’l_y_ﬁbﬂ)ﬂ'g 6)5]6“’3‘5@5@&]
6 . . .
olifi o £, - R .eﬂsn @SD)EDI{H@GIDLU.I Qﬁ]ﬂff};gﬂi@m 9_ﬂl'6TI'60'I-'.
36 Quiwyled@mbs swamwiiy @ e muile
F={(4,3),(4,3),(5,2), (5,2),(6,1),(6,2)} Coib@gs®&é&suu@id @M oilerd&mer g
. . 6 GODUTHLWGTS @HUUSNETeT auminiy 3 erefled
- s 36 GomuThienLw eflers @ o efler 8
G= { (5’3)1 (5!3)1 (612)’ (612)} 6T 6007 66011 8561 & 6MILIS &IT6H0T 5.
4 . . . .
g (hsed 8 Sl s = 36 gie. @evmurigeoes eflerés@ser = 20
H={(6,3),(6,3)} GonUT(H6TeT 96TSH G 6T = X 6T6ITS
2 Qurss afers@ast = x+20
(B0 9 HoLss = — e ©
36 x
10. e smumiled 5 el HmO LGLSISEHD, 6 GleusTemer GODUTHLILSTS @56 HSDss6a| =
Bl uEgSEEL, 7 uFms HDOLGSSERD 8 Sy x+20
BnOuGgSEHD 2 sTarer.  Fweumiliy (penmuied X 3
soLuflsdlphg) o UL TOSSILGENG. JHSU LbSI =4
(i) Qeueremer (ii) s@mUYy Ioesg Haly x+20 8
(iii) G?susirsmﬂrm[ras @d‘murrmsi) .(iii) G\sus.irsmslru.massmh, 8x = 3x +60 5x = 60
SOHUUTS QL @eammTe @ @ougmnser
NS08 856]|56m6TS SIT6HTs. 60
. . x =— x=12
&6, R &laiy -5 5
W Qeusiremer -6 Gomur@srer efers@Gser = 12
G u&eng -7
B smiy - 8
Gurgsin - 26
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12. B6ir @ BG5S OGS L 52 i [Bs6T GlsmetorL
R FLH&sL1g60, L. &l mha @rmrar
wmnid @orenfl F HisEnn, enmil & Hsafllmhs,
@orewfll womn wEHA FLEsEHD, CUE
Fsalledlphg, wEHM wHm @rrer & EsEH0
B&siu@EHns. Wswerer & Hsafldlmbsl, wm &0
suamiiy weopuwled a@&sSOILEHDI. KBS
FlLmeng) (i) Sermeur gy, (i) Haniy @rremflurs,
(iii) s&s@mOy @urerTaurs, @ @mUUSDHSTer
1R &1 5 56| 56061TS SIT600T 5.
gire). Qurss f s HseT = 52
B&asiuLeney = Ke, Q¢, QY, JV, Jb,
g sier FH&s(HssT =52-6 =46

() 13
i) Germeut g & = —
= 46

Ka

0
(i) Feuliy @ymemfliime =E =0

3 1
1) S(mu TTETUTSH = —
(iii) s@mIyE) 76

13. urewmeaurser elememur(Hid @@ elemerim iy 60
Ijursermed T Sevemenrgl i L LILfls@sr
lyisred gmg Gaundlursan, e L Oufl$és
QauafllG aflyhsred Imsg GCsmaoelursea|b
SHSUUE S & . Memerwmilige G eaimni
QameTousmamer o886 6Tereor ?

&iiey.

. . . . 2
oIl L S&leoT LTl = w7

491z

O 5

190y

n(1)* =

Gesuisgdler Uiy = b= 4x3=12

G]G)Jﬁ')’fﬁ] QU.‘D .r—f’]a’lchgjaas)-l = ?

314 _ 314 _ 157
~712 1200 600

15. @ eflememuniipmamer, Klme|s s L ewrin G150
s  eflememuniigs) 65 IHTGWOTILID EPGTM  (L6mM
sarLUu@&EmG. ST, @M LoyasF FL@
urmiSermer, ojeuallemeTiimlgsd 66TM 36060 5]
@ran® Smesdr aflyhsre geust CFysSH
BlmYa s SLULewrid Hpous S Sg00@n.  epsirm
SMGT ElMLSHT0  IJeU6TT| IS &L L 6wrLD
@reor@ wLBGTES HoLsG0.  @ame6lesTmTe
IUEHSE ThHS SLLampn SHpmous SHeoLssrs).
@ainrGnefle (i) @reor® w_ksTs (i) Heopeas
sLLerd Hauuieumn (i) popes sLarsms
@uiusmno %eﬂu.l fap&dsensasmer

Qa;gpg,a;massmﬂras SHITCO0TS.

14. @)yevor(h) mISTGauTT &6, SIfwim LMD 9|LpS6T 6
g_r’)llllljll'_L RIS 8@, GMIILL eumy&Hle (Q’,\rm&)srr
(glg,su gafl eueny) QEFHMITSeT. gqsurrasm
ISy &HEGE swaumiliy wpenmuiled eeibairm KmEhHLD
QanHmniser. @ maa IhisTesHS), (1) Cr Krafls
(2) QeucGoum wI Safleo (3) g@g,g,@g,g, Br_serfled
QFSMHS&TeT FSHLS 5656061 S &IT6H0T 5.

giiay. Iflur 960608 9|(PS6T SHMLEE

Qoo flapssa = 5
(1) Gy Brerfled GlFsvsn 1 1 1
=_X—X6=—
6 6
(ii) GousniGoum) mrefled Gsever 1 5 5
= —=X—X6=—
6 6 6
(iii) 9H&5505s Breafle s 1 1 5 5
= X— X =
6 6 36

Sie. = { HHH, HHT, HTH, THH, HTT, THT,
TTH, TTT}
n(S) =38
(i) @yetor(h LoLrhisTs
A ={HHH}
na 1
P T S
(il) miemLpeys L Lsmarid &l(mHoULiGILIM
B ={HHH,HTH, THH,HTT, THT, TTH}
D (CIEN6  2g
" n(S) 8 4
(iii) mIemLp6YS SL L sworld @ILILISNE
C={TTT}
nC 1
“n(s) "8
peiTGermm& Gars smeur

) em U L aflmaremens sSenfllss (pigwimos
E S GLD 615 CHTSHEMEOTEOIL ...ov.neeeenee eT6ar GLILD.

gire. & aumiiyg Camgemeor

2) MGG F FTSEHWLTANS &Ml & el 6o
(A F: 511G TN T T T, S 6T6or 9|emLp&ECmTLD.

gire. &mGeaerf]

WpsirGermmé G&ms emenr
Qar@&sUu_L sasafle e fespssars @)mess
Yywrg ?

(a) -0.0001 (b) 0.5 (c) 1.001 (d) 1

145 V3+1

() 20%  (00.253 (9 —, (h) 4
Eite O<P(E) < 1

a) -0.0001 flspssea g6
c) 1.001 fsnss6) e
9) 1-V5fspsen s

2
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Sl Hemeum s SH6Tid

STGTT600T 9 60019 60, 53 &60flSEPEMSET 621(Th 621G M EIT6T
H&15 86 eTeirer ?

giie. sTgmyenT gpetor(h =365 memseT

365
365 mmer = — = 52 eummid 1 mme

steorGeu 52 seufl&Elpeminsseir + 1 Hmsir
S ={@m, i, Qg us, elwm, Qe Feuf }
n(S) =7A = {&)}

n(a) 1
P(A) = m =7_
GMlY : sTSTTET 96T 6he 53 Slpemn ey

Henssn ;—

2
6011 g etTIg 60 6T S 54 Elpemin oy FlspS &6 T

E

pan
<
P1 4}3&452

E
L k.
E,

P2 B“<Ez

P 5y
3 <B<@
B, z;

4

P )\

4§Q 3

3, &

é;@

<

El

5, £ 5

P B, < 4

2

1 Ba<EI
2

El

EZ

Bl E
P2 BQ<EZ
R =
2

2

P e
E,
3 <Bz 4

B, <§;

<€:

P arail

4§@ )

2, Tc;'

<

<

Qaweur® 3

wgeller afpalmhg IeusT LemfllumHmid @ 5HNE
Q& eypsirm auflser R, , R, wpmid R; 2 erereor.
JEhmLIL Iaaass de P, , P, , P, , P, eterm
6T eurser Hmsgiil_kisesn, B, , B, , B; serm
eypsirml Hismpeuruile s Emid 2 erarer. BB JjeueT
usseflyflin SersHNGEF Qame E, , E, ereirm @yetor(H
et Gr&HHlGEeT o 6TeTET. LT QUMILIL S6MSLI
vtwearu@s5H aueEpmLw il ig 6wk s
VIOV S S6TSH608E I|6LLLI 675360681 6Ll 6T 2_6iT 61T 60T
6T6OT &> SHITCOTS ?

Curss auflsst = 3x4x3x2=72
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Causas 10 H6mTsE 226 @hwesu—8
Qaweur® — 4 il 8.4
Comaura ssaunsmas Gsaflssély pa)=2 PB) =2 P(AUB) =1aafe, PANB)
&1p& & etorL_eumndledr &1 5 56| 86061T 8> ST 660T 5. sreins. 3 5 3

(i) o eraenLi eu@UNla6TeT 65 LOTEUTEEMEIT S
60505 5.
(i) o crememL i eu@lllayeTer 6 Lomemraileniis
G055 5.
(iii) 2_eorgy verafluiled LSHMD uEY LuSledLETSefled
RS 6oire] Glau
(iv) e earg ustaflufley uGSTD auGNNed LUSlID G
Lomeuor Uem 6T GHiTer] Gl
(v) eearg usrafluiled ussmd auEnile LulmIDd 6
wreraflenws Csie| Glaiw.
gie).  Th&SSHHM LTS UsTaflulleerer GLomss, Lomesmrel,
wrsmraflser = 400
USSTLD euGLILyi6Ter Lomesare, Lomssareflaer = 100
LomssoreurgsT 60 = Lomsmorallser = 40
2 6t7 U@ LILIgyIeTerT LomeoTey, Lomesarelass =40
2 65T eU@GLILIGIETENT LomeTaTEUT 6T = 25

2 6ir euGLIlgyisiar Lomsmorelsser =15 eTsiras.

25 5
(i) wremTeuemerTS CHTHOBH&HS = N I
(ii) wmemrallemiws CaimhOshi&Es L
40 8
(iii) 2_svrgy) LisTafluSlgVIsiTET LIS STLD 611G LIL
. . . 100 1
uuflsuuieusnr G ey Gleiw = 4—00 = 4—
(iv) 2 6org) LisTaflufleb LISSHTLD 61(GLIL| LOT6TT6LEM6IT S
Cairey Qe 60 3
T400 20
(v) 2_eorgy) ueefludled LSSTLD oG LI LomemTellenis
Cairey Gleiw 40 1
400 10

&6y
P(A) =3£=P(B) =?2 P(AUB) =%

P(AnB) =P(A)+P(B)-P(AU B)

2 2 1

"3 5 3
10+6-5 _ 11

- 15 15

2. Aummin B gy Swismen @\ HaipsSlser. Gugin, P(A)

= 0.42, P(B) =0.48 ummid P(AnB) =0.16 erefle
(i) P (A @evemev) (ii) P (B @)svemev)

(iii) P (A gjoeg) B) g Sleinsmms &ieoors.

gie). (i) P (A@ssmev)

P(A) = 1- P(A)
=1-0.42 = 0.58

(i) P (B@eeme)

P(B) = 1- P(B)
=1-0.48 = 0.52

(i) P (A 960605 B
P(AUB) = P(A)+P(B)-P(AnB)
=0.42+0.48-0.16
=0.74

1L, 5667 & S6ITLD
@weor flap&Aufler fliy fapsd erg) ?
Siay. @i flepédullsr By Hlepsd 1

3. @@ swamiiys Gsrgmeruies A, B g duisme
earmnCurarn oMos@n Rospsdsear Gl
P (A@deme) = 0.45, P (AUB) = 0.65arasflé0 P (B)—
08 &I 6G0T &.
&iea. P(A) =0.45 P(A) =0.55
A, B gsrennGliumsitm ellevs @ Hsp&d st
stexflso P(AUB) =P(A) + P(B)
0.55 =0.55 +P(B)
P(B) =0.65-0.55=0.1

4. A uwpmin B-ufled, GoMhSS THTIG Q6T
Repasnsrar fapsse; 0.6. A womin B &Gy
Crrsdleo e Qumegnasrear fepsse 0.2 eeflo
P(A) + P(B)}- & setors.
gia,. P(AUB) = 0.6 P(AnB) = 0.2

P(AUB) = P(A)+P(B)-P (AnB)

06 =P (A) +P(B) -0.2
P (A) +P(B) =08
P(A)+PB)=[1-PA)]] +[1-PB)]

=2- [P(A)+P(B)] =2-0.8=1.2
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@wsu—8

5. Rapsdl A- sarer fapsse) 0.5 wHmIid B-&smer
Rapssa) 0.3 A nnmid B gy Sliuemel 6eirenmGiwimerm
s fHepsdsst ereafld, A4d Bd4d [flspmos
@ @UusnHsTer Kl&1)8 8 meIs &iT6tors.
giay. P(A)=0.5 P(B)=0.3

A, B etsttuen eettenmGiumesty elleus@d flapadlast
srefld P(AUB) =P(A) + P(B)

= 05+0.3 =0.8
A, B-i flsypmedlpés flspsgse = P (Zﬁé)
= 1-P(AuB) =1-0.8=0.2

6. @WeaT(H LSMLSET 6 (PmMm 2 (HL UIB\S6Tmenr.
yse usamLulled s wHIY @il LemL  6Tesor
ey ys wHiysalar s Hso 8 9&6
SenL_LIugnamer Fa1)s s mels iTeuors.
ey S={(1,1), (1,2),..... (6,6)}
n(S) =36
S0 LSEmL_UNed @7 6mL_ 6T6T0T Fl6mL_5685>
A ={(21),(22),(2,3) (2,4),(2,5),(2,6),
(4,1),(4.2),(4,3), (4.4),(4,5), (4.6),
(6,1), (6.2),(6,3),(6,4),(6.,5), (6,6)}

n(A) =18
nA) 18
PA) = @ =36

G (D560 8 S8

B = {(2,6), (3,5), (4.4), (53), (6,2)}

nB) =5

n(B) 5
P(B) = —_— =—

n(S) 36
AnB = {(2,6), (4,4), (6,2)}
n(AnB) =3

nfAnB) 3
P(AmB}= n(S) =¥
18 5 3

P(AuB)=P(A)+P(B)-P(AnB) = %+§-£

0 20 B 5

"3 9

7. BTG SM5G IOSSHIL 52 i (Hsmers GlmenorL
sLdlmbg swamily weapuled m FLEO
d@ssILUQENG. & FAally @rrETas 9G]
soly @rreaflurs @@nUusnHsrear &S smeas
SHIT600T 5.

gie). n(S) = 52

n(A)
Seuly @rremours Q& P(A) =
n(s)
P2
T 52
. . n(B)
&mUY @irmsreflurs @wmss P(B) =
n(S)
-2
52

A, B eteatLient spsiremmiLme)) el60& @10 flaLp& &l ser
P(AUB) =P(A)+P(B)

2 2
=
52 52

_ 4 1
52 13

8. @ Gulguim 3,5,7,9, 35, 37 eT6iTM 6T6HOTS6IT
GM&&SOULL S Hi&eT o sTemer. &Foeumili] (penmuiled
TOSSILGILD @ FL(H 6T 7—60T LIL_BISTS I|60605)
LIIT 6T6U0T600TIT & (@) (HLILISM &6 FlSL) &S &6m618 &5IT6t0T 8.

S, S={3,5,7,9,.....35,37}

n(s) =18
76T LLEISTS @mEs A = {7,21,35}
nA) =3
n(A) 3
PA =25 =18
LIT& 6T600T 600TIT & () (15655
B ={3,5,7,11,13,17,19, 23,29, 31,37}
n(B) =11
n(B 11
PE = n((s))zﬁ
AnB = {7}
n(AnB) =1
n(AnB) 1
PANB) = — o= =75
P(AUB) = P(A)+P(B) - P(ANB)
3 11 1 3
“18 18 18 18
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9. SFymer epeTm HTEMIIGBIGSH 6@ (pPmM
saor_luGElsirmer.  gHSULEFD 2 L ES6T 065
GONHHULEFD 2 Hmeser &lenl LU D Tenr
5 &5 8 6m6118 &SIT6w0T 5.
e,
S = {HHH,HHT,HTH, THH,HTT, THT, TTH, TTT}
n(S) =8
IFSULED 21,5567 L 658
A={HHH, HHT, HTH, THH, HTT, THT, TTH}
n) =7
nfA) 7
s B
GEOMHS LI FLD 2 Heme0861T SHlenL_&

B={HHH, HHT, HTH, THH}

P(A) =

n(B) =4
nB) 4
PB) = — =—
(S 8
AnB = {HHH, HHT, HTH, THH}
n(AnB) =4
n(AnB) 4
PANB) = =—
n(s) 8
P(AuB) = P(A) +P(B) -P(AnB)
7 4 4 7
S — t— - ——
8 8 8 8

@lweu—8
P(AB) =P(A) + P(B)- P(AUB)
3 3 5
X, ° 2
5 8 7
168 +105-200
) 280
273-200 73
=280 280

10. mamsE Wareny eUUGSMD Sl IUSnHaTer
fepsse 3 oML GUMiser QuITmS5sIaISNaTeT
QUUESD 5 Hel&&mosd Galiusnsme Hepsse]
5 g0 Guuu, GODLESULSID ST QI
8 RUUGESL S saUtunignaerar fspssn 5
ereufled @\yretor(h) QUILIGSHEISEHL SevnL_LLsmeTer 7

H&SH56| eTeirer ?

tol. 3
Y PG —
5

- 5
P(B) ry

_ 5
P(B) =1-P(B)=1-==

®| w

5
P(AUB) =—

11. 8000 wss6r Ggrams QamearL e, Hsrsdhsn 1300
Guir 50 awHnE GumulLerser wHmin 3000 Gui
Quetorg6ir. Gogyid 50 enuGnE Gumu L GuesrssT 30%
2 _ 6T 6 60T I . adearoi @&iMflwe @& mg.
ComOsH&SsILMHILD 6@ KU, QueTaTs 9jsmg 50
agne GCupu L ayrs @@UusnHsTer flassmeals
SHIT600T S.
gial. n(S) = 8000
50 euwdmE Gupul Leur = n(A) =1300
1300

PA) =——
A 8000
n(B) = 3000

3000

PB) =———
B) 8000

OustoraHeT =

30
50 euwdn@ Cupur’ L Quetraer =—— X 3000

100
= 900
900
P(AnNB) = ——
3000
P(AUB) =P(A) +P(B)-P(ANB)
1300 3000 900
" 8000 8000 8000
_ 4300-900
8000
_ 3400 _ 17
8000 40
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12. (m mmsvoriiLD epsirml (pemm SevorLLHEmG) sflums
@lmﬁrr@ SHEORSET VNG GOMHSLLFID 6 1
gang JOS55055 QraTE oo s
SleoL LGN oTe [H&1556mes ST s.

&ie. S={HHH, HHT, HTH, THH, HTT, THT,
TTH,TTT}
n(S) = 8
Fiflurs @)7euor(h Semeva 6T HlenL &
A ={HHT, HTH, THH}

nfA) =3
nfA) 3
P(A} = W = 8
GSSOMHSULELD (15 L, HevL_58
B ={HHT, HTH, THH,HTT, THT, TTH, TTT}
n(B) =7
nB) 7
P(B) = W = E

30S58H\ES @T68eT(H HEMELS:6T HlenL &
C ={HHH, HHT, THH}

n(C) = 3
P(A ne L3
Wom s
ANB = {HHT,HTH, THH}
3
PANB) =T

ANBNC = {HHT, THH}
PAnBNC) = —
BNC = {HHT, THH}
PBNC) =%

ANC = {HHT, THH}

2
PIANC) =5

P(AUBUC) = P(A) + P(B) + P(C) - P(A NB) -

P(BNC)-P(ANC) + PAnNBNC)
2 2

8. 7. 332 2
" 8"8"8 8 8 8"
8

=1
8

13. A, B, C eretruiett 6fGCahamiid epsirml N&p&FSse6r, GLogin
B feLiusnsrar Bspsse A-er Hspssmel
Gure @uLBisTsan, C S Lusnsrer Hspssa)
As el eLpeiTa)) DL BIST S| 2 6Temenr. GLogyid.

1 1 1
P(AnB) =—:P(BNC) =— 'P(ANC) =—
(AnB) == PBnC) =— PANC) =—
9 1 L
P(AUBUC) = — P(AnBNC) =— eratflev,
10 15

P(A) , P(B) upmid P(C) -0 smers ?
giey. PB) =2 P(A)
P(C) =3 P(A)
P (AuBUC) = P(A) + P(B) + P(C) - P(AnB) -
P(BNC) - PANC) + P(AmBmC)

9 111
10—P(A)+2P(A)+3P(A) s s e
6 PlA - s s s B
10 6 4 8 15
~108+20+30+15-8
N 120
35 1
_ w5
"~ 420
2 8
11 11
P4 “56 " s
. 4
PB) = 2PA) = X4_8_T8 -Z
P(C) = 3P(A) =3 x%:i’—;’ :1—;

14. 35 wmewreum&er 2 6T6mr 6@ 6@ Ll
RICTHaBSGD 1 s 35 aIedy  6TewTS6T
Q&T(H S & 0uL (B 6T 6T eor. L0 IT 6307 6 IT & (61F) & (& LD
wnsoreflsEm&H@ 2 6rer allfgunarg 4 : 3 gy @l
auflons eTeor&Her wWremrauisafles OQsmL
wrereilsafled (pigaimLSngl. et m@umaﬁl@g,gj
Gg,ng,@g;@a;a;uu@é,]mrrrr eIt LISIT 6TeuoTemennr euiflens
eTeuuTeouTT & & Q&meiiTL  LomewTeuymSGaur  9jeeng) LI
oTewor meoor euflem s erevor T ma & @ & moenor L
wrarelursGwr 9jemg @I e eaorencr cuflng
oTeuTelT TS5 & G &meworL euymsGeur @) L1 &M & T 6o
NS5 6meE: &IT6HT 5.

girey. n(S) =
Lomegareur, Lomesoredlui efl&lgn = 4 : 3

4

& LOMeuoTOUT = TX 35 =20

3

oressrewr = 7 x 35 =15
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Q&g asm 10 s6usE) 230 @we—8
wmewreut = {1, 2, ... 20) 4. P(APB) = v
wresorefwir = {21, 22, ... 35) giey 1- P(AUB)
LIS 6TevaTemenar euIfleme sTetoTsnoTT&:& GlasmenorL 5. A wimih B ayfusmer gersom@uimsim efleodein

wremreut A={2, 3,5,7, 11,13, 17, 19}

8
n(A) = E
P(A) =35

L, eTevaremenet oiflema eTevoTemuTTaHd Gl mevorL
wmssrefwi B = {21, 22, 24, 25, 26, 27, 28, 30, 32,
33, 34, 35}

nB) = 12
12
P(B) = —=

@ eoL eTevoTemennt eiflene eTevoTeTOTT S Gl TevaTL 6UIT
C={2,4,6,8,10, 12, 14, 16, 18, 20, 22, 24, 26,

28, 30, 32, 34}

n(C) = 17
17
PIC) = —
(€) 3

AnB ={ }
P(AnB) = 0

BNnC ={22, 24, 26, 28, 30, 32, 34}

7

P (BNC) =—
(BnC) 35
ANC = { 2}
1

P (ANC) =—

(ANC) 35

ANBNC = { }

P(AnNBNC) =0

P(AuBUC) = P(A) + P(B) + P(C) - P(ANB) -
P(BNC) - P[AnC) + P(ANB NC)

Rs1p&dser erefleo P(ANB) = 0
giey. 0
6. P(AnB)= 0.3, P(AnB)= 0.45 aafl® P (B)=

gire). 0.75

@&weLrm 5
Rspssailer a1 L Conmsms 1Nsralmin (psmmsafle
SEULILDITS 6T(L)S60MLD

P(AUB)= S, -S,

P(AUBUC)= S;-S,+S;
@EGs, S, = @@ Hspsfl W EWL BLOUSDHSTET
0810556 safl6r &u_(h 5 60.

S, = @renr®@ fapFdaser W @ KLOUSNST 6T
08105886 safl6r &u(h 5 60.

S; = eyeirm) RapFAser LG KLOUSHEST6T
5810886 5afl6r &u_(h 8 60.
P(A)+P(B) -P(ANB)

P(AUB)= .

P(AuBUC)=
P(A)+P(B)+P(C)-P(AnB)+P(BNC)+P(AnC)+ P(AnBNC)

ST Oz 8 L

GumsstorL gjemwoli] emmuiled P (A UB UC UD)-uflesr
B &5 86m618 SIT6u0r 5.

girey. P(AuBUCUD) = [P(A) + P(B) + P(C) + P(D)]
-[P(AnB)+ P (BNC)+P(CnD)+P(AnD)]
+ [P(AnBNC) + P(BNCnD) +P(AnCND)

_i+£+1_7_ -1-1_+0 + P(AnBND)]
35 35 35 35 35 - [P(ANBNCND)]
29 =S;,- S, +S; -5,
= E ﬁ- o li]
e GerdmE Gemgemenm P(AUB) +P(ANB) atérusg.
1 PADCEWD) = o &iay P(A) +P(B)
giiey. P (A) -P(AnB) @Mliy: P(AUB) +P(ANB)
2. P(ANB) = .............

&iay P(B) - P(AnB)

3. (ANB) wpmib ANB I Slwenel
gire. eerenmOluTeTy elevsEh Hapsdser

= P(A)+P(B)-P(AnB) +P(ANB)
= P(A)+P(B)
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Ogsusasm 10 S60sE) 231 @wev—8
il 8.5 6. @ srelar H L eflwssorarg 3. QG
ueayer Qgifley eflerméser. wdlimuud 5-gi6 GumsHarme HomL GG LS

1. &6y Car@ssUUl L masafled 65 Lo 9jarame
@6evemev ?
(1) ofda (2) S Lellewssn (3) &L HF syraifl
@) fewss ansss synaifl
gie). (3) anl (h& grma

2.8,8,8,8,8....... 8 g S sreflsir aiFs.
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